

Huntsville, Alabama

308 Fountain Circle Huntsville, AL 35801

Cover Memo

Meeting Type: City Council Regular Meeting Meeting Date: 10/27/2022 File ID: TMP-2187

Department: Finance

Subject: Type of Action: Approval/Action

Resolution authorizing the Mayor to enter into an agreement between the City of Huntsville and the lowest responsible bidder, SJ&L General Contractors, LLC for the provision of services for the Resurfacing of Residential Streets FY2023 Phase 1 project.

Resolution No.

Finance Information:

Account Number: 3020-55-00000-516020-00000000-

City Cost Amount: \$ 8,993,539.98

Total Cost: \$ 8,993,539.98

Special Circumstances:

Grant Funded: \$ N/A

Grant Title - CFDA or granting Agency: N/A

Resolution #: N/A

Location:

Address: Various streets and roadways throughout the city.

District: District 1 □ District 2 □ District 3 □ District 4 □ District 5 □

Additional Comments:

This project consists of 108 streets and is scheduled to be completed within 365 days from the date of the notice to proceed (NTP).

RESOI	LUTION	No.	22 -	
--------------	--------	-----	------	--

BE IT RESOLVED by the City Council of the City of Huntsville, Alabama, that the Mayor be, and is hereby authorized, to enter into a contract between the City of Huntsville and the low bidder, SJ&L General Contractors, LLC in the amount of EIGHT MILLION NINE HUNDRED NINETY-THREE THOUSAND FIVE HUNDRED THIRTY-NINE DOLLARS AND 98/100 (\$8,993,539.98), for the Resurfacing of Residential Streets FY2023 Phase 1 project, in Huntsville, Alabama, on behalf of the City of Huntsville, a municipal corporation in the State of Alabama, which said agreement is substantially in words and figures similar to that document attached hereto and identified as "Contract between City of Huntsville and SJ&L General Contractors, LLC, for Resurfacing of Residential Streets FY2023 Phase 1 project" consisting of a total of one (1) page plus seventy-nine (79) additional pages consisting of the Certification of Compliance with Title 39, Code of Alabama, Bid Award Recommendation, the details, specifications, surveys, general requirements, and supplemental terms and conditions as outlined in IFB No. 98-2022-55 issued September 21, 2022, Pre-Bid Meeting Minutes dated September 29, 2022, all addenda, E-Verify MOU, Alabama Secretary of State registration, and the date of October 27, 2022, appearing on the margin of the first page, together with the signature of the President or President Pro Tern of the City Council, and an executed copy of said document being permanently kept on file in the Office of the City Clerk of the City of Huntsville, Alabama.

ADOPTED this the 27th day of October, 2022

President of the City Council of the City of Huntsville, Alabama

APPROVED this the 27th day of October, 2022

Mayor of the City of Huntsville, Alabama

CONTRACT BETWEEN THE CITY OF HUNTSVILLE

AND

SJ&L GENERAL CONTRACTORS, LLC

FOR

Resurfacing of Residential Streets FY2023 Phase 1 IFB No. 98-2022-55

STATE OF ALABAMA MADISON COUNTY

THIS CONTRACT, made and entered into this 27th day of October 2022 between the CITY OF HUNTSVILLE, ALABMA, a Municipal Corporation, sometimes referred to herein as City, and SJ&L GENERAL CONTRACTORS, LLC, sometimes referred to herein as Contractor.

-WITNESSETH-

WHEREAS, the City desires to install, construct or make certain improvements known as **Resurfacing of Residential Streets FY2023 Phase 1** project, in the City of Huntsville, Madison County, Alabama, all in accordance with details, specifications, surveys and general requirements prepared by the City of Huntsville Public Works Department, which are on file in the Office of the Public Works Director of the City of Huntsville, Alabama, all of which details, specifications, surveys, general and special requirements, terms and conditions as detailed in IFB No. 98-2022-55 issued on September 21, 2022, Pre-Bid Meeting Minutes dated September 29, 2022, and all addenda are made a part of this contract, and

NOW, THEREFORE, it is agreed that the Contractor promises and agrees to make such improvements for the party of the first part for the considerations hereinafter set out. The Contractor promises and agrees to furnish all necessary labor, materials and equipment for the doing of the same, all to be done in accordance with such details, plans, specifications, general requirements and supplements to general requirements hereto attached and made a part of this contract.

FOR THE PERFORMANCE of such work, the City agrees to pay the Contractor as follows per Appendix C Supplement – Schedule of Bid Quantities.

SJ&L General Contractors, LEC	BY:	Tommy Battle, Mayor	
ATTEST: Charles They		Kenneth Benion City Clerk Treasurer	
		City Council President	
		Date	



Finance Department Procurement Services Division

CONTRACT/BID AWARD RECOMMENDATION FORM

RECOMME	T BETWEEN CITY OF H	IMODITY/SERV UNTSVILLE All ended that SJ&L	ND SJ & L	RESURI GENERAL	WORKS SERVICES F/RESID ST FY23,PH.1
	DESCRIPTION		PRICE	UOM	COMMENT
S	ee Attached Bid Tabulation S	Sheet	IMCE	UOIVI	COMMENT
	ee i ittaenea Dia Tabaianon i	Silect			
INITIAL PUI FUNDING SO TERM OF CO	OURCE: 3020-55-000 ONTRACT: One Tim	00-516020-00000 e r w/ Additional O r onths		tensions as A	Allowable by State Law
provisions of a and I have not other Proposer	have complied with all laws, any contract and/or grant agresought by collusion with the Bidder in this procurement. Dese Digitally signed by Chris McNeese Date: 2022.10.12 09:42:58-0500'	ements applicable	e to this pro	curement pr	ocess. In addition, my staff
Department He		Date			
Tamara M. Y	Date: 2022.10.12 13:09:09 -05'00'	10/12/2022			
Procurement N	lanager	Date			

Email completed form to Procurement@huntsvilleal.gov

4		PROCU	PROCUREMENT SERVICES TABULATION)		
98-2022-55 Resurfacing of Residential Streets FY2023 Phase	023 Phase			-	X	
::			Witnessed By:	Jalissa	Schroeder	
	Rogers Group,	SJ+L General	Midsauth	Wireynass		
Bidders	June.	Contractors	Paring, Inc.	Construction Co.		
GC License #	14067	383.14	19484	5957		
Acknowledge Addendum 1-6?	405	yes	Yes	YOS		
Comments		:-	-	-		
D: 1		NIC				
Bid Responsive? Yes or No	-690	to	έ	- 450		
Comment: Explain if No						
Lump Sum Base Bid	\$9,047,393,44	Lump Sum Base Bid \$ 9,047,393,44 \$ 8,993,539,98 \$11,270,139.63	\$11,270,139.6	\$ 49,428,634.00		



Finance Department Procurement Services Division

CERTIFICATE OF COMPLIANCE

Pursuant to Code of Alabama, 1975 ("Code"), Section 39-5-1(b), the City of Huntsville, Alabama does hereby certify that the agreement by and between the City of Huntsville and

SJ&L	General Contractors	in the approximate
		Contractor Name)
amoun	at of $\frac{\$8,993,539.98}{(Contract\ Amount)}$ for	Resurfacing of Residential Streets FY2023 Phase 1
	(Contract Amount)	(Project Name)
to be a	warded October 27, 2022 (Council L	Date)
for pur certific	poses of a civil action as recate shall constitute a presu	e, Title 39 and all other applicable provisions of law; and, only eferenced in Code Section 39-5-1(a), the issuance of this mption that the contract was let in accordance with the laws.
City of	f Huntsville, Alabama	
BY:	Penny L Smith Digitally s	igned by Penny L Smith 2.10.14 08:21:05 -05'00'
	Penny L. Smith, CPA, CC	FM, CGMA
Its:	Director of Finance	
Date	10/14/2022	



Tommy Battle Mayor

City of Huntsville, Alabama

Finance Department Procurement Services Division

Resurfacing of Residential Streets, FY23, Phase 1

Invitation for Bid#: 98-2022-55

Issue Date: September 21, 2022

Bid Bond Requirements: Yes, a bond is required

Performance Bond Requirements: Yes, a bond is required

Labor & Materials Payment Bond Requirements: Yes, a bond is required

Certificate of Insurance Requirements: Yes, a certificate is required

Pre-Bid Teleconference Date and Time: N/A

Pre-Bid Conference Date and Time: September 29, 2022 @ 10:00 AM CST

Deadline for Questions: September 30, 2022 @ 5:00 PM CST
All questions must be submitted in writing to

tamara.yancy@huntsvilleal.gov

IFB Closing Date and Time: October 6, 2022 @ 2:00:00 PM CST

Procurement Services Contact: Tamara M Yancy

tamara.yancy@huntsvilleal.gov

(256) 883-3614

City Internet Site: https://www.bidnetdirect.com/alabama/cityofhuntsville

IFB E-Documents: Appendix C Supplement – Schedule of Bid Quantities

(Excel Spreadsheet)

Bid Copies to be Submitted: 1 Original, 1 Copy

City File Reference: Resurfacing of Residential Streets 2023 – Phase 1

APPENDIX B BID PROPOSAL

TO: THE CITY OF HUNTSVILLE

Procurement Services Division 308 Fountain Circle – 5th Floor Huntsville, Alabama 35801

PROPOSAL OF:

5JDL General Controctor, UC NAME) 2317 Mendian Street # 25 Honbuille Al 35811

(ADDRESS)

TO MAKE CERTAIN IMPROVEMENTS ENTITLED:

Resurfacing of Residential Streets 2023 Phase 1

FOR THE CITY OF HUNTSVILLE, ALABAMA

Ladies/Gentlemen:

The undersigned bidder has carefully examined the drawings or plans, bid documents, the specifications, the general requirements, the supplement to general requirements, the general terms and conditions, this proposal, the agreement, together with any addenda thereto, and agrees to furnish and deliver all the materials, and to do and perform all the work and labor required to be furnished and delivered, done and performed in and about the improvements as described above and in accordance with certain specifications prepared and approved by the OWNER (City of Huntsville, Alabama).

The undersigned bidder understands that when unit prices are called for, the quantities shown herein are approximate only and are subject to increase or decrease, and offers to do the work whether the quantities are increased, or decreased, at the unit prices stated in the following schedule. The undersigned bidder also understands that when lump sum bids are called for, he will be required to furnish all equipment, labor, materials and other items or cost to construct a complete facility. The undersigned bidder further understands that any deletions or additions designated on the outside of the bid envelope, must indicate the particular bid item relative to the deletion or addition, even if the deletion or addition references to deduct or add to the Total Base Bid. Any bids received that are unsealed will be immediately rejected.

Contractors are authorized to download quantities, Appendix C Supplement - Schedule of Bid Quantities, or quantity revisions from City's bid solicitation platform, Bidnet Direct, at

https://www.bidnetdirect.com/alabama/cityofhuntsville and paste to a CD-RW (preferably in a live/flash drive format) of their choice which must be submitted with the original bid packet. In addition, two hard copies must be signed and submitted with original bid packet. Failure to do so may be cause for rejection of bid. The City reserves the right to reject any altered bid resulting from altering the bid CD in any manner. If a price discrepancy is found on the CD-RW, or the correct version of bid quantities is not submitted on the CD-RW which corresponds to the printed hard copies, then printed hard copy prices submitted with original bid documents, with Contractor signature, will prevail.

Certificates of Insurance are required naming the City as the Certificate Holder. Also, the name of the project and project number should be included on the certificate. The Certificates should reflect the insurance coverage required herein. In addition, a copy of the policy may be requested upon award. Certificates signed using digital signatures will not be accepted unless accompanied by a written statement from the insurance/surety company indicating that their electronic signature is intended as their signature. The Certificates are to be signed by a person authorized by the Insurer to bind coverage on its behalf and must indicate coverage will not be canceled or non-renewed except

after thirty (30) days prior written notice to the City at the following address: City of Huntsville, Procurement Services Division, P.O. Box 308, Huntsville, Alabama 35804.

The undersigned bidder understands that the Contract Time for completion of all work is 280 calendar days.

THE UNDERSIGNED BIDDER ALSO AGREES AS FOLLOWS:

All bonds must be approved by the Mayor and the Clerk-Treasurer of the City of Huntsville. Within fifteen (15) days after the date of acceptance of this proposal by City Council action, the contractor shall execute the contract and furnish to the OWNER a payment (labor and material) bond and a performance bond, each in the amount of 100% of the contract amount. No contract extension will be allowed for delays in the issuance of the notice to proceed that are a result of the contractor failing to submit the required items within the 15 days.

It is further understood and agreed that the Contractor shall commence work to be performed under this contract within fifteen (15) days from the date of this contract, unless otherwise instructed in writing by the OWNER. All work shall be carried on continuously to completion.

Accompanying this proposal is a certified check or bid bond in the amount of not less than five percent (5%) of the total amount shown on the schedule of prices not exceeding \$10,000.00 payable to the City of Huntsville, Alabama, which is to be forfeited, as liquidated damages, if, in the event that his proposal is accepted, the undersigned shall fail to execute the contract and furnish a satisfactory contract bond under the conditions and within the time specified in this proposal; otherwise, said certified check or bid bond is to be returned to the undersigned.

I the undersigned, further understand that acknowledgment of receipt of addenda is mandatory and my failure to acknowledge receipt addenda shall result be cause for rejection of the bid proposal.

Signature of the Proposer

Ealer - VP Print or Type Name of Proposer

10/11/22

Date

No.	D = == 1 1
	Received
\	9/21/22
Z	9/29/22
3	9/29/22
4	10/5/22
5	10/6/22
6	10/6/22

STAL General Contractor, UC Legal Name of Firm

2317 Meridian Street # 25 Mailing Address

Huntsulle Al 35811 City, State, Zip Code

931)433-4660 Phone and Fax

Email Address

Steven @ shandl.com

Website Address

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/10/2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the discretion of the determine a	ug out 6-8" deep ar he onsite inspector at the time of const ty inspector.	. Further subgra
tem#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	Street #1 Argyle Rd (Length 1,125', Width 27') From Mastin Lake Rd to Merry Oaks Dr				
1	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	320	TON	\$104.40	\$33,408.00
2	Milling 0-2" Total Mill	3,600	SY	2 31.42	\$5,112.00
3	Milling 2-4" Total Mill	100	SY	\$5.00	\$500.00
4	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
5	Manhole Riser	10	EA	\$300.00	\$3,000.00
6	Manhole Adjustment	1	EA	\$1,000.00	\$1,000.00
7	Inlets	1	EA	\$1,000.00	\$1,000.00
8	Delineaters	5	EA	\$1,000.00	\$5,000.00
9	New 22' Flat Topped Speed Table	1	EA	\$6,500.00	\$6.500.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a		nd backfilled with r. Further subgrad trution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
10	Remove Only Existing Speed Cushions	1	EA	\$350.00	\$350.00
11	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	220	SY	\$163.20	\$35,904.00
12	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	30	LF	\$60.18	\$1,805.40
13	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	300	LF	\$59.16	\$17,748.00
14	Remove and Replace Concrete Crossdrain (MEET ADA COMPLIANCE)	25	SY	\$132.60	\$3,315.00
15	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #1 Argyle Rd From Mastin Lake Rd to Merry Oaks Dr				\$120,814.40

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a	ie onsite inspectoi	nd backfilled with r. Further subgrad trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	Street #2 Beard St (Length 2,510', Width 31') From Poplar Ave to Beard St (Totals include Sitka Ct, Attu Ct, and Tundra Ct)				•
16	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	850	TON	\$86.62	\$73,627.00
17	Milling 0-2" Total Mill	10,000	SY	\$1.47	\$14,700.00
18	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$50.00	\$5,000.00
19	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	160	LF	\$60.18	\$9,628.80
20	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	200	LF	\$59.16	\$11,832.00
21	Remove and Replace Concrete Crossdrain (MEET ADA COMPLIANCE)	40	SY	\$132.60	\$5,304.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a		nd backfilled with r. Further subgrade trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
22	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
23	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2A Parallel Midblock (ALDOT Drawing SW-618 Index #736	6	EA	\$1,989.00	\$11,934.00
	TOTAL Street #2 Beard St From Poplar Ave to Beard St				\$135,697.80
	Street #3 Blue Spring Cir (Length 370', Width 27') From Blue Spring Rd to Cul-De-Sac				
24	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	150	TON	\$110.85	\$16,627.50
	Milling 0-2" Total Mill	1,700	SY	\$3.20	\$5,440.00
25					

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
-	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	110/00-2022-00				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen the determine a	ug out 6-8" deep and the consite inspector in the time of consity inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
27	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	30	LF	\$60.18	\$1,805.40
28	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	30	LF	\$59.16	\$1,774.80
29	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
30	Traffic Control Markings	30	SF	\$7.65	\$229.50
	TOTAL Street #3 Blue Spring Cir From Blue Spring Rd to Cul-De-Sac				\$30,799.20
	Street #4 Boswell Dr (Length 3,900', Width 26') From US 72 E Hwy to US 72 E Hwy	C			
31	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	1,040	TON	\$85.29	\$88,701.60

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/10/2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of tl o be determine a	ug out 6-8" deep a ne onsite inspector at the time of consi ty inspector.	. Further subgrad
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
33	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$50.00	\$5,000.00
34	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	300	SY	\$163.20	\$48,960.00
35	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	350	LF	\$59.16	\$20,706.00
	TOTAL Street #4 Boswell Dr From US 72 E Hwy to US 72 E Hwy		<u> </u>		\$181,448.60
	Street #5 Bridge Rd (Length 1,650', Width 27') From Mountain Park Cir to Blue Spring Rd				
36	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	450	TON	\$92.01	\$41,404.50
37	Milling 0-2" Total Mill	5,300	SY	\$1.42	\$7,526.00
38	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a		nd backfilled with r. Further subgrad trution by the onis
ítem#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
39	Manhole Riser	8	EA	\$300.00	\$2,400.00
40	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	40	LF	\$60.18	\$2,407.20
41	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	60	LF	\$59.16	\$3,549.60
42	Remove and Replace Concrete Crossdrain (MEET ADA COMPLIANCE)	26	SY	\$132.60	\$3,447.60
43	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
44	Traffic Control Markings	30	SF	\$7.65	\$229.50
	TOTAL Street #5 Bridge Rd From Mountain Park Cir to Blue Spring Rd				\$67,136.40
	Street #6 Chalmers Ave (Length 1,000', Width 26') From Reynolds Dr to Kavanaugh Dr				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the obe determine a	ug out 6-8" deep and the consite inspector at the time of consity inspector.	. Further subgrad
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
45	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	265	TON	\$104.40	\$27,666.00
46	Milling 0-2" Total Mill	2,900	SY	\$3.20	\$9,280.00
47	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
48	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	15	SY	\$163.20	\$2,448.00
49	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	120	LF	\$59.16	\$7,099.20
	TOTAL Street #6 Chalmers Ave From Reynolds Dr to Kavanaugh Dr				\$48,993.20
	Street #7 Colfax Rd (Lenth 2,800', Width 26') From Winchester Rd to Matic Rd (Totals Include Brosemer Rd NW)				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen the determine a		nd backfilled with r. Further subgrad trution by the onis
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
50	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	725	TON	\$89.93	\$65,199.25
51	Milling 0-2" Total Mill	8,600	SY	\$1.56	\$13,416.00
52	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$50.00	\$5,000.00
53	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	100	SY	\$163.20	\$16,320.00
54	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	80	LF	\$60.18	\$4,814.40
55	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	350	LF	\$59.16	\$20,706.00
56	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	3	EA	\$1,836.00	\$5,508.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a	ug out 6-8" deep a ne onsite inspector at the time of consi ty inspector.	r. Further subgrad
ítem #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
57	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2 Parallel Midblock (ALDOT Drawing SW-618 Index #736	1	EA	\$1,989.00	\$1,989.00
58	Speed Table Install/22" Flat Topped	3	EA	\$6,494.24	\$19,482.72
59	Traffic Control Markings	30	SF	\$7.65	\$229.50
	TOTAL Street #7 Colfax Rd From Winchester Rd to Matic Rd				\$152,664.87
	Street #8 Crossover Ln (Length 400', Width 17') From Fortune Dr to Higdon Rd			an .	
60	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	90	TON	\$110.85	\$9,976.50
61	Milling 0-2" Total Mill	1,000	SY	\$3.20	\$3,200.00
62	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
	TOTAL Street #8 Crossover Ln From Fortune Dr to Higdon Rd				\$15,676.50

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				<u> </u>
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a		nd backfilled with . Further subgrac rution by the onis
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	Street #9 Crouse Dr (Length 1,050', Width 26') From End of Street to Matic Rd				
63	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	300	TON	\$104.40	\$31,320.00
64	Milling 0-2" Total Mill	3,400	SY	\$1.42	\$4,828.00
65	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
66	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	120	LF	\$60.18	\$7,221.60
67	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	60	LF	\$59.16	\$3,549.60
	Handicap Ramps With ADA Detectable Warning			\$1,836.00	\$7,344.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/10/2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen the determine a		nd backfilled with r. Further subgrad trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
69	Raised Traffic Markers	45	EA	\$7.65	\$344.25
	TOTAL Street #9 Crouse Dr From End of Street to Matic Rd				\$57,107.45
	Street #10 Delaware Blv (Length 600', Width 24') From Meridian St to North Plymouth Rd				,
70	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	220	TON	\$104.40	\$22,968.00
71	Milling 0-2" Total Mill	2,600	SY	\$3.20	\$8,320.00
	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
72	1121213				
72	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	140	SY	\$163.20	\$22,848.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the discretion of the determine a		nd backfilled with r. Further subgrad trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
75	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
76	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2A Parallel Midblock (ALDOT Drawing SW-618 Index #736	1	EA	\$1,989.00	\$1,989.00
77	Traffic Control Markings	150	SF	\$7.65	\$1,147,50
	TOTAL Street #10 Delaware Blv From Meridian St to North Plymouth Rd		tn ====================================		\$69,462.50
	Street #11 Delaware Cir (Length 500', Width 24') From North Plymouth Rd to North Plymouth Rd				
78	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	130	TON	\$110.85	\$14,410.50
79	Milling 0-2" Total Mill	1,500	SY	\$3.20	\$4,800.00
80	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the obedetermine a		nd backfilled with r. Further subgrad trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
81	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	120	SY	\$163.20	\$19,584.00
82	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	300	LF	\$59.16	\$17,748.00
	TOTAL Street #11 Delaware Cir From North Plymouth Rd to North Plymouth Rd				\$57,792.50
	Street # 12 Iris Ln (Length 550', Width 27') From Lantana Way to East Arbor Dr				
83	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	165	TON	\$110.85	\$18,290.25
84	Milling 0-2" Total Mill	2,060	SY	\$3.20	\$6,592.00
85	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
86	Manhole Riser	2	EA	\$300.00	\$600.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a	ug out 6-8" deep a ne onsite inspector nt the time of const ty inspector.	. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
87	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	150	SY	\$163.20	\$24,480.00
88	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	120	LF	\$59.16	\$7,099.20
	TOTAL Street #12 Iris Ln From Lantana Way to East Arbor Dr				\$59,561.45
	Street #13 North Helena Dr (Length 650', Width 26') From West Helena Dr to East Helena Dr	el H			
89	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	190	TON	\$110.85	\$21,061.50
90	Milling 0-2" Total Mill	2,000	SY	\$3.20	\$6,400.00
91	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
92	Manhole Riser	2	EA	\$300.00	\$600.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	QOARTITIES (REVISED FER ADDENDON NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a	ug out 6-8" deep a ne onsite inspector at the time of const ty inspector.	. Further subgra
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
93	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	100	SY	\$163.20	\$16,320.00
94	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	300	LF	\$59.16	\$17,748.00
	TOTAL Street #13 North Helena Dr From West Helena Dr to East Helena Dr				\$64,629.50
	Street # 14 Offutt Ct (Length 600', Width 26') From Stringfield Rd to Cul-De-Sac				
95	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	200	TON	\$104.40	\$20,880.00
96	Milling 0-2" Total Mill	2,400	SY	\$3.20	\$7,680.00
97	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
_	Remove and Replace Concrete Driveway Apron	15	SY	\$163.20	\$2,448.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of t o be determine		nd backfilled with r. Further subgrade trution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
99	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	40	LF	\$60.18	\$2,407.20
100	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	50	LF	\$59.16	\$2,958.00
101	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #14 Offutt Ct From Stringfield Rd to Cul-De-Sac				\$42,545.20
	Street #15 Skylab Dr (Length 1,650', Width 37') From Von Braun Dr to Nick Fitcheard Rd				
102	424A 1/2" Mlx 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	670	TON	\$89.93	\$60,253.10
103	Milling 0-2" Total Mill	7,800	SY	\$1.56	\$12,168.00
104	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	QOANTITIES (REVISED PER ADDENDUM NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of tl o be determine a	ug out 6-8" deep ar ne onsite inspector at the time of const ty inspector.	. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
105	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	320	SY	\$163.20	\$52,224.00
106	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	200	LF	\$59.16	\$11,832.00
	TOTAL Street #15 Skylab Dr From Von Braun Dr to Nick Fitcheard Rd				\$138,977.10
	Street #16 Treymore Ave (Length 1,200', Width 22') From Mastin Lake Rd to Countess St				
107	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	300	TON	\$104.40	\$31,320.00
108	Milling 0-2" Total Mill	3,500	SY	\$1.42	\$4,970.00
109	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
	Manhole Riser	5	EA	\$300.00	\$1,500.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	doritimes (nemoes) ex assensem to, of				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55			-	
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the discretion of the determine a		nd backfilled with r. Further subgrad trution by the onis
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
111	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	50	LF	\$60.18	\$3,009.00
112	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	20	LF	\$59.16	\$1,183.20
113	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #16 Treymore Ave From Mastin Lake Rd to Countess St	,	,		\$48,154.20
	Street #17 Yeager Ct (Length 600', Width 27') From Skylab Dr to Cul-De-Sac			/	
114	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	250	TON	\$104.40	\$26,100.00
115	Milling 0-2" Total Mill	3,000	SY	\$1.42	\$4,260.00
116	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the		nd backfilled with Further subgrad- rution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
117	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	40	SY	\$163.20	\$6,528.00
118	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	80	LF	\$59.16	\$4,732.80
	TOTAL Street #17 Yeager Ct From Skylab Dr to Cul- De-Sac				\$44,120.80
	Street #18 Bankhill Cir (Length 509', Width 26') From Cul-De-Sac to Ada Dr				
119	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	180	TON	\$110.85	\$19,953.00
120	Milling 0-2" Total Mill	2,100	SY	\$3.20	\$6,720.00
121	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$50.00	\$5,000.00
	Manhole Riser	1	EA	\$300.00	\$300.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO, 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a		nd backfilled with r. Further subgrade trution by the onisit
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	I BID AMOUNT
123	Manhole Adjustment	1	EA	\$1,000.00	\$1,000.00
124	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	40	LF	\$60.18	\$2,407.20
125	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	30	LF	\$59.16	\$1,774.80
126	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #18 Bankhill Cir From Cul-De-Sac to Ada Dr				\$40,827.00
	Street #19 Birchwood Dr (Length1,500', Width 26') From End of Street to Delibrook Dr				
127	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	400	TON	\$92.01	\$36,804.00
128	Milling 0-2" Total Mill	4,400	SY	\$1.42	\$6,248.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/10/2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a	ug out 6-8" deep a ne onsite inspector at the time of const ty inspector.	r. Further subgrad
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
129	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
130	Manhole Riser	7	EA	\$300.00	\$2,100.00
131	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	260	SY	\$163.20	\$42,432.00
132	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	330	LF	\$59.16	\$19,522.80
133	Raised Traffic Markers	18	EA	\$7.65	\$137.70
	TOTAL Street #19 Birchwood Dr From End of Street to Delibrook Dr				\$108,494.50
	7000	i .			
	Street #20 Chapman Ave (Length 1,630', Width 26') From Gladstone Dr to Maysville Rd				
134		430	TON	\$92.01	\$39,564.30

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a		nd backfilled with r. Further subgrade trution by the onisit
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
136	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	75	TON	\$50.00	\$3,750.00
137	Manhole Riser	6	EA	\$300.00	\$1,800.00
138	Manhole Adjustment	2	EA	\$1,000.00	\$2,000.00
139	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	150	SY	\$163.20	\$24,480.00
140	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	60	LF	\$60.18	\$3,610.80
141	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	260	LF	\$59.16	\$15,381.60
142	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2 Parallel Midblock (ALDOT Drawing SW-618 Index #736	2	EA	\$1,989.00	\$3,978.00
143	Speed Tables Remove Only	2	EA	\$350.00	\$700.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of th o be determine a		nd backfilled with r. Further subgrad trution by the onis
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
144	Speed Table Install/22' Flat Topped	2	EA	\$6,500.00	\$13,000.00
145	Traffic Control Markings	240	SF	\$7.65	\$1,836.00
	TOTAL Street #20 Chapman Ave From Gladstone Dr to Maysville Rd				\$117,200.70
	Street #21 Christian Ln (Length 1,680', Width 20') From Gladstone Dr to Quietdale Dr			9	70
146	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	350	TON	\$104.40	\$36,540.00
147	Milling 0-2" Total Mill	3,920	SY	\$1.42	\$5,566.40
148	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	15	TON	\$50.00	\$750.00
149	Solid Class 2 Traffic Stripe	1.270	MI	\$4,080.00	\$5,181.60

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	QOANTITIES (REVISED PER ADDENDOM NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a		nd backfilled with r. Further subgrad trution by the onis
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
151	Traffic Control Markings	220	SF	\$7.65	\$1,683.00
152	Raised Traffic Markers	150	EA	\$7.65	\$1,147,50
	TOTAL Street #21 Christian Ln From Gladstone Dr to Quietdale Dr				\$54,495.62
	Street #22 Cottage St (Length 870', Width 17') From End of Street to Barrell Ave				
	424A 1/2" Mix 4 Wearing Surface Layer in Place (15%		TON:	****	
153	RAP after cleaning and tacking) 1-1/2" Thick	140	TON	\$110.85	\$15,519.00
153 154		1,670	SY	\$3.20	\$15,519.00 \$5,344.00
	RAP after cleaning and tacking) 1-1/2" Thick				
154	RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place	1,670	SY	\$3.20	\$5,344.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/10/2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the beginning of the determine a	ne onsite inspecto	nd backfilled with r. Further subgrad trution by the onis
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
158	Remove and Replace Concrete Crossdrain (MEET ADA COMPLIANCE)	25	SY	\$132.60	\$3,315.00
	TOTAL Street #22 Cottage St From End of Street to Barrell Ave				\$29,103.00
	Street #23 Dotson Dr (Length 2,700', Width 26') From Drake Ave to Toney Dr (Totals Include the Dead End on South Side of Toney Dr)				
159	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	700	TON	\$89.93	\$62,951.00
160	Milling 0-2" Total Mill	8,000	SY	\$1.56	\$12,480.00
161	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	75	TON	\$50.00	\$3,750.00
162	Manhole Riser	6	EA	\$300.00	\$1,800.00
163	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	170	SY	\$163.20	\$27,744.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of tl o be determine a	ug out 6-8" deep and an e onsite inspector at the time of consity inspector.	r. Further subgrad
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
164	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	80	LF	\$60.18	\$4,814.40
165	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	420	LF	\$59.16	\$24,847.20
166	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	4	EA	\$1,836.00	\$7,344.00
	TOTAL Street #23 Dotson Dr From Drake Ave to Toney Dr				\$145,730.60
	Street #24 Dug Hill Rd (Length 2,400, Width 20') Third City Limit Sign To Second City Limit Sign				
	424A 1/2" Mix 4 Wearing Surface Layer in Place (15%	470	TON	\$92.01	\$43,244.70
167	RAP after cleaning and tacking) 1-1/2" Thick				I

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the best of the determine a		nd backfilled with r. Further subgrad trution by the onisi
ítem #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
169	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
170	Solid Class 2 Traffic Stripe	1.810	МІ	\$4,080,00	\$7,384.80
171	Solid Temporary Traffic Stripe	3.620	MI	\$1,428.00	\$5,169.36
172	Raised Traffic Markers	220	EA	\$7.65	\$1,683.00
	TOTAL Street #24 Dug Hill Rd From Third City Limit Sign to Second City Limit Sign				\$66,399.86
	Street #25 Dug Hill Rd (Length 7,100', Width 21') From First City Limit Sign to City Limits				
173	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	1,390	TON	\$87.86	\$122,125.40
174	Milling 0-2" Total Mill	16,580	SY	\$1.59	\$26,362.20
175	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	125	TON	\$75.00	\$9,375.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of tl o be determine a		nd backfilled with r. Further subgrad trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
176	Manhole Riser	5	EA	\$300.00	\$1,500.00
177	Solid Class 2 Traffic Stripe	5.370	MI	\$4,080.00	\$21,909.60
178	Solid Temporary Traffic Stripe	10.740	MI	\$1,428.00	\$15,336.72
179	Broken Class 2 Traffic Stripe	0.890	MI	\$2,550.00	\$2,269.50
180	Broken Temporary Traffic Stripe	1.780	MI	\$1,428.00	\$2,541.84
181	Dotted Traffic Stripe	0.030	LF	\$1,000.00	\$30.00
	TOTAL Street #25 Dug Hill Rd From First City Limit Sign to City Limits				\$201,450.26
	Street #26 Goldsmith St (Length 1,130', Width 26') From Pratt Ave to McCullough Ave	Î			
182	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	270	TON	\$104.40	\$28,188.00
183	Milling 0-2" Total Mill	3,270	SY	\$1,42	\$4.643.40

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1			W	
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of to be determine	ug out 6-8" deep a ne onsite inspector at the time of cons ty inspector.	r. Further subgra
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
184	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$75.00	\$7,500.00
185	Manhole Riser	1	EA	\$300.00	\$300.00
186	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	60	LF	\$60.18	\$3,610.80
187	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	50	LF	\$59.16	\$2,958.00
189	Remove and Replace Concrete Crossdrain (MEET ADA COMPLIANCE)	25	SY	\$132.60	\$3,315.00
190	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	4	EA	\$1,836.00	\$7,344.00
	TOTAL Street #26 Goldsmith St From Pratt Ave to	·			\$57,859.20

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the discretion of the determine a		nd backfilled with r. Further subgrade trution by the onisi
item #	DESCRIPTION	BID QTY	I RID UNIT	I BID PRICE	I BID AMOUNT
	Street #27 Greenslope Trl (Length 1,650', Length 26') From End of Street to Spicewood Trl			The second residence of the second of the se	
191	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	450	TON	\$92.01	\$41,404.50
192	Milling 0-2" Total Mill	5,300	SY	\$1.42	\$7,526.00
193	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$50.00	\$5,000.00
194	Manhole Riser	5	EA	\$300.00	\$1,500.00
195	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	40	SY	\$163.20	\$6,528.00
196	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	120	LF	\$60.18	\$7,221.60
197	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	70	LF	\$59.16	\$4,141.20

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the best of the determine a		nd backfilled with r. Further subgrade trution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	TOTAL Street #27 Greenslope Trl From End of Street to Spicewood Trl				\$73,321.30
	**				***
	Street #28 Joseph Cir (Length 980', Width 26') From End of Street to End of Street				M.
198		250	TON	\$104.40	\$26,100.00
198	End of Street to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15%	250 2,850	TON	\$104.40 \$3.20	\$26,100.00 \$9,120.00
	End of Street to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick				
199	End of Street to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place	2,850	SY	\$3.20	\$9,120.00
199	End of Street to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	2,850	SY	\$3.20 \$50.00	\$9,120.00 \$3,750.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the beginning a		nd backfilled with Further subgrad rrution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
204	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	100	LF	\$59.16	\$5,916.00
205	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2A Parallel Midblock (ALDOT Drawing SW-618 Index #736	2	EA	\$1,989.00	\$3,978.00
	TOTAL Street #28 Joseph Cir From End of Street to End of Street		··		\$81,857.40
	Street #29 King Ave (Length 450', Width 26') From Meridian St to Cottage St				
206	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	130	TON	\$110.85	\$14,410.50
207	Milling 0-2" Total Mill	1,500	SY	\$3.20	\$4,800.00
208	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a	ug out 6-8" deep and the onsite inspector it the time of consity inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
210	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	15	SY	\$163.20	\$2,448.00
211	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	20	LF	\$60.18	\$1,203.60
212	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	80	LF	\$59.16	\$4,732.80
213	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
214	Traffic Control Markings	120	SF	\$7.65	\$918.00
	TOTAL Street #29 King Ave From Meridian St to Cottage St				\$34,634.90
	Street #30 Lenlock Cir (Length 570', Width 26') From End of Street to Lenlock Dr	li e			
215	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	190	TON	\$110.85	\$21,061.50

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of tl o be determine a	ug out 6-8" deep a ne onsite inspecto at the time of cons ty inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
216	Milling 0-2" Total Mill	2,180	SY	\$3.20	\$6,976.00
217	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	15	TON	\$50.00	\$750.00
218	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	55	SY	\$163.20	\$8,976.00
219	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	300	LF	\$59.16	\$17,748.00
	TOTAL Street #30 Lenlock Cir From End of Street to Lenlock Dr				\$55,511.50
	Street #31 McClung Dr (Length 3,640', Width 26') From California St to Owens Dr				
	424A 1/2" Mix 4 Wearing Surface Layer in Place (15%	900	TON	\$86.62	\$77,958.00
220	RAP after cleaning and tacking) 1-1/2" Thick				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen the determine a		nd backfilled with r. Further subgrad trution by the onis
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
222	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	125	TON	\$50.00	\$6,250.00
223	Manhole Riser	13	EA	\$300.00	\$3,900.00
224	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	90	SY	\$163.20	\$14,688.00
225	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	60	LF	\$60.18	\$3,610.80
226	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	270	LF	\$59.16	\$15,973.20
227	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2 Parallel Midblock (ALDOT Drawing SW-618 Index #736	1	EA	\$1,989.00	\$1,989.00
228	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2A Parallel Midblock (ALDOT Drawing SW-618 Index #736	1	EA	\$1,989.00	\$1,989.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of th o be determine a		nd backfilled with r. Further subgrade trution by the onisi
ítem #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
229	Q Loops	1	EA	\$1,275.00	\$1,275.00
230	Solid Class 2 Traffic Stripe	1.370	МІ	\$4,080.00	\$5,589.60
231	Solid Temporary Traffic Stripe	2.740	MI	\$1,428.00	\$3,912.72
232	Traffic Control Markings	77	SF	\$7.65	\$589.05
233	Traffic Control Legends	22.41	SF	\$7.65	\$171.44
234	Raised Traffic Markers	130	EA	\$7.65	\$994.50
	TOTAL Street #31 McClung Dr From California St to Owens Dr			1	\$154,369.41
	Street #32 Melbourne Ave (Length 2,270', Width 26') From Bide-A-Wee Dr to Peck Rd				
235	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	560	TON	\$92.01	\$51,525.60
236	Milling 0-2" Total Mill	6.580	SY	\$1.56	\$10,264.80

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a		nd backfilled with r. Further subgrade trution by the onisit
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
237	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	75	TON	\$50.00	\$3,750.00
238	Manhole Riser	10	EA	\$300.00	\$3,000.00
239	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	130	SY	\$163.20	\$21,216.00
240	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	180	LF	\$59.16	\$10,648.80
241	Raised Traffic Markers	15	EA	\$7.65	\$114.75
	TOTAL Street #32 Melbourne Ave From Bide-A-Wee Dr to Peck Rd				\$100,519.95
	Street #33 Noble Cir (Length 330', Width 26') From End of Street to Noble Dr				·
242	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	110	TON	\$110.85	\$12,193.50
243	Milling 0-2" Total Mill	1,240	SY	\$3.20	\$3.968.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the beginning of the determine a	ug out 6-8" deep and the onsite inspector it the time of consity inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
244	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	10	TON	\$50.00	\$500.00
245	Manhole Riser	2	EA	\$300.00	\$600.00
246	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	35	SY	\$163.20	\$5,712.00
247	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	150	LF	\$59.16	\$8,874.00
248	Remove and Replace Concrete Crossdrain (MEET ADA COMPLIANCE)	23	SY	\$132.60	\$3,049.80
-	TOTAL Street #33 Noble Cir From End of Street to Noble Dr				\$34,897.30
	Street # 34 Oakwood Ave (Length 3,780', Width 38') From Andrew Jackson Way to Maysville Rd				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)			4	10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen the determine a		nd backfilled with r. Further subgrad trution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
249	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	1,460	TON	\$85.94	\$125,472.40
250	Milling 0-2" Total Mill	17,100	SY	\$1.59	\$27,189.00
251	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$75.00	\$7,500.00
252	Manhole Riser	12	EA	\$300.00	\$3,600.00
253	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	20	SY	\$163.20	\$3,264.00
254	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	110	LF	\$60.18	\$6,619.80
	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	70	LF	\$59.16	\$4,141.20

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a	ug out 6-8" deep an ne onsite inspector at the time of const ty inspector.	. Further subgrac
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
256	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
257	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2 Parallel Midblock (ALDOT Drawing SW-618 Index #736	2	EA	\$1,989.00	\$3,978.00
258	D Loops	8	EA	\$1,020.00	\$8,160.00
259	Solid Class 2 Traffic Stripe	1.520	MI	\$4,080.00	\$6,201.60
260	Solid Temporary Traffic Stripe	3.040	MI	\$1,428.00	\$4,341.12
261	Broken Class 2 Traffic Stripe	1.430	MI	\$2,550.00	\$3,646.50
262	Broken Temporary Traffic Stripe	2.860	MI	\$1,428.00	\$4,084.08
263	Traffic Control Markings	930	SF	\$7.65	\$7,114.50

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/10/2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a	ug out 6-8" deep a ne onsite inspecto at the time of cons ty inspector.	r. Further subgra
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
265	Raised Traffic Markers	520	EA	\$7.65	\$3,978.00
	TOTAL Street # 34 Oakwood Ave From Andrew				4000 470 74
	Jackson Way to Maysville Rd	Ę.			\$223,476.51
	Street #35 Pale Dawn PI (Length 4,800', Width 26') From Cul-De-Sac to Carrington Blv				\$223,476.51
266	Street #35 Pale Dawn PI (Length 4,800', Width 26')	1,200	TON	\$87.86	\$105,432.00
266 267	Street #35 Pale Dawn PI (Length 4,800', Width 26') From Cul-De-Sac to Carrington Blv 424A 1/2" Mix 4 Wearing Surface Layer in Place (15%	1,200	TON	\$87.86 \$1.59	
	Street #35 Pale Dawn PI (Length 4,800', Width 26') From Cul-De-Sac to Carrington Blv 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick				\$105,432.00
267	Street #35 Pale Dawn PI (Length 4,800', Width 26') From Cul-De-Sac to Carrington Blv 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place	14,450	SY	\$1.59	\$105,432.00 \$22,975.50
267	Street #35 Pale Dawn PI (Length 4,800', Width 26') From Cul-De-Sac to Carrington Blv 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	14,450	SY	\$1.59 \$75.00	\$105,432.00 \$22,975.50 \$15,000.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a	ug out 6-8" deep a he onsite inspecto at the time of cons ty inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
272	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	250	LF	\$59.16	\$14,790.00
273	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #35 Pale Dawn PI From Cul-De-Sac to Carrington Blv)) }		,	\$180,099.30
	Street #36 Pettus Cir (Length 360', Width 26') From End of Street to Pettus Dr				
274	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	150	TON	\$110.85	\$16,627.50
275	Milling 0-2" Total Mill	1,570	SY	\$3.20	\$5,024.00
276	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	15	TON	\$50.00	\$750.00
277	Manhole Riser	1	EA	\$300.00	\$300.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the beginning of the determine a		nd backfilled with r. Further subgrade trution by the onisit
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
278	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	40	SY	\$163.20	\$6,528.00
279	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	50	LF	\$60.18	\$3,009.00
280	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	80	LF	\$59.16	\$4,732.80
281	Remove and Replace Concrete Crossdrain (MEET ADA COMPLIANCE)	20	SY	\$132.60	\$2,652.00
	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2A Parallel Midblock (ALDOT Drawing SW-618 Index #736	2	EA	\$1,989.00	\$3,978.00
282	TOTAL Street #36 Pettus Cir From End of Street to				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen the determine a	ug out 6-8" deep and onsite inspector at the time of consity inspector.	r. Further subgra
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	Street #37 Preston Ridge Dr (Length 2,100', Width 27') From End of Street to Broad Armstrong Dr				
283	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	540	TON	\$92.01	\$49,685.40
284	Milling 0-2" Total Mill	6,350	SY	\$1.56	\$9,906.00
285	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	150	TON	\$75.00	\$11,250.00
286	Dense Graded Base	75	TON	\$35.00	\$2,625.00
287	Manhole Riser	6	EA	\$300.00	\$1,800.00
288	Manhole Adjustment	1	EA	\$1,000.00	\$1,000.00
289	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	110	SY	\$163.20	\$17,952.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022	
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55					
	UNIT BID SHEET					
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the objection of the determine a	ug out 6-8" deep a he onsite inspector at the time of consi ty inspector.	r. Further subgrad	
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT	
290	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	170	LF	\$60.18	\$10,230.60	
291	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	310	LF	\$59.16	\$18,339.60	
292	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2A Parallel Midblock (ALDOT Drawing SW-618 Index #736	2	EA	\$1,989.00	\$3,978.00	
	TOTAL Street #37 Preston Ridge Dr From End of Street to Broad Armstrong Dr	\$126				
	Street #38 Red Mile Ct (Length 470', Width 26') From End of Street to Calumet Dr		·			
293	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	170	TON	\$110.85	\$18,844.50	
294	Milling 0-2" Total Mill	1,890	SY	\$3.20	\$6,048.00	
295	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$50.00	\$5,000.00	

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the object of the determine a		nd backfilled with r. Further subgrad trution by the onis
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
296	Manhole Riser	2	EA	\$300.00	\$600.00
297	Manhole Adjustment	2	EA	\$1,000.00	\$2,000.00
298	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	80	LF	\$60.18	\$4,814.40
299	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	40	LF	\$59.16	\$2,366.40
300	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2A Parallel Midblock (ALDOT Drawing SW-618 Index #736	2	EA	\$1,989.00	\$3,978.00
	TOTAL Street #38 Red Mile Ct From End of Street to Calumet Dr				\$43,651.30
	Street #39 Sandusky St (Length 1,450', Width 26') From Gaslight Way to Darlington Rd	£			
301	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	370	TON	\$104.40	\$38,628.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a	ig out 6-8" deep a ne onsite inspector t the time of consi ty inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
302	Milling 0-2" Total Mill	4,200	SY	\$1.42	\$5,964.00
303	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$50.00	\$5,000.00
304	Dense Graded Base	50	TON	\$35.00	\$1,750.00
305	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	150	SY	\$163.20	\$24,480.00
306	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	40	LF	\$60.18	\$2,407.20
307	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	520	LF	\$59.16	\$30,763.20
301	TOTAL Street #39 Sandusky St From Gaslight Way to				\$108,992.40

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO, 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a		nd backfilled with r. Further subgrad trution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	Street #40 Slalom Run (Length 1,500', Width 26') From Barefoot Cir to Terry-Drake Rd (Totals Include the Extra Wide Radius and the Encircled Island)			•	
308	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	570	TON	\$92.01	\$52,445.70
309	Milling 0-2" Total Mill	6,450	SY	\$1.56	\$10,062.00
310	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	125	TON	\$50.00	\$6,250.00
311	Manhole Riser	5	EA	\$300.00	\$1,500.00
312	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	70	LF	\$60.18	\$4,212.60
313	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	50	LF	\$59.16	\$2,958.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the obedetermine a		nd backfilled with Further subgrade rution by the onisi
ítem #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
314	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2A Parallel Midblock (ALDOT Drawing SW-618 Index #736	2	EA	\$1,989.00	\$3,978.00
	TOTAL Street #40 Slalom Run From Barefoot Cir to Terry-Drake Rd		1.		\$81,406.30
	Street #41 Springhouse Rd (Length 4,160', Width 26') From End of Street to Carl T Jones Dr				
315	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	1,060	TON	\$85.29	\$90,407.40
316	Milling 0-2" Total Mill	12,520	SY	\$1.59	\$19,906.80
317	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	150	TON	\$50.00	\$7,500.00
318	Manhole Riser	6	EA	\$300.00	\$1,800.00
319	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	40	SY	\$163.20	\$6,528.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a		nd backfilled with r. Further subgrad trution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
320	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	80	LF	\$60.18	\$4,814.40
321	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	300	LF	\$59.16	\$17,748.00
322	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	1	EA	\$1,836.00	\$1,836.00
323	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2A Parallel Midblock (ALDOT Drawing SW-618 Index #736	1	EA	\$1,989.00	\$1,989.00
324	Solid Class 2 Traffic Stripe	0.100	ML	\$4,080.00	\$408.00
325	Solid Temporary Traffic Stripe	0.200	MI	\$1,428.00	\$285.60
326	Traffic Control Markings	103	SF	\$7.65	\$787.95

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/10/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	F10Ject #100-2022-35				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the objection of the obj	ug out 6-8" deep a he onsite inspecto at the time of cons ty inspector.	r. Further subgra
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	TOTAL Street #41 Springhouse Rd From End of Street to Carl T Jones Dr				\$154,164.15
	Street #42 Andromedea Rd (Length 400', Width 20') From Chicamauga Trl to End of Street		,		
328		105	TON	\$110.85	\$11,639.25
328	From Chicamauga Trl to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15%	105 950	TON	\$110.85 \$3.20	\$11,639.25 \$3,040.00
	From Chicamauga Trl to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick			38 11070805	
329	From Chicamauga Trl to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place	950	SY	\$3.20	\$3,040.00
329	From Chicamauga Trl to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	950	SY	\$3.20 \$50.00	\$3,040.00 \$1,250.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a		nd backfilled with r. Further subgrad trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	Street #43 Ben Glies Dr (Length 416', Width 26') From Memorial Pky to End of Street	35.07-37.5			, sistemositi
333	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	165	TON	\$110.85	\$18,290.25
334	Milling 0-2" Total Mill	1,750	SY	\$3.20	\$5,600.00
335	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
336	Dense Graded Base	25	TON	\$35.00	\$875.00
337	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	15	SY	\$163.20	\$2,448.00
338	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	20	LF	\$60.18	\$1,203.60
339	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	60	LF	\$59.16	\$3,549.60

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/10/2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a	ug out 6-8" deep and the onsite inspector at the time of consity inspector.	. Further subgrad
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	TOTAL Street #43 Ben Giles Dr From Memorial Pky to End of Street				\$34,466.45
	Street #44 Blackbird Dr (Length 1,020', Width 25') From Skylark Dr to End of Street				
340		325	TON	\$104.40	\$33,930.00
340	From Skylark Dr to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15%	325 3,500	TON SY	\$104.40 \$1.42	\$33,930.00 \$4,970.00
	From Skylark Dr to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick				
341	From Skylark Dr to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place	3,500	SY	\$1.42	\$4,970.00
341	From Skylark Dr to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	3,500 75	SY	\$1.42 \$50.00	\$4,970.00 \$3,750.00
341 342 343	From Skylark Dr to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP) Dense Graded Base	3,500 75 50	SY TON TON	\$1.42 \$50.00 \$35.00	\$4,970.00 \$3,750.00 \$1,750.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a	ig out 6-8" deep al ne onsite inspector it the time of consi ty inspector.	. Further subgra
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
348	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	300	LF	\$59.16	\$17,748.00
	TOTAL Street #44 Blackbird Dr From Skylark Dr to End of Street				\$68,280.00
	Street #45 Bleu Dr (Length 750', Width 26') From Shades Rd to Todd Mill Rd				
349	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	225	TON	\$104.40	\$23,490.00
350	Milling 0-2" Total Mill	2,400	SY	\$3.20	\$7,680.00
351	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
352	Dense Graded Base	25	TON	\$35.00	\$875.00
	Remove and Replace Concrete Driveway Apron	20	SY	\$163.20	\$3,264.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/10/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the discretion of the determine a	ug out 6-8" deep a ne onsite inspector at the time of consi ty inspector.	. Further subgra
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
354	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	40	LF	\$60.18	\$2,407.20
355	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	180	LF	\$59.16	\$10,648.80
356	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2 Parallel Midblock (ALDOT Drawing SW-618 Index #736	1	EA	\$1,989.00	\$1,989.00
357	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY3 Combination Midblock (ALDOT Drawing SW-618 Index #736)	1	EA	\$3,000.00	\$3,000.00
	TOTAL Street #45 Bleu Dr From Shades Rd to Todd Milli Rd				\$55,854.00
	Street #46 Boulevard South (Length 1,400', Width 32') From Benaroya Ln to End of Street				
	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	450	TON	\$92.01	\$41,404.50

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a	ig out 6-8" deep ar ne onsite inspector at the time of const ty inspector.	. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
359	Milling 0-2" Total Mill	5,200	SY	\$1.42	\$7,384.00
360	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
361	Dense Graded Base	25	TON	\$35.00	\$875.00
	TOTAL Street #46 Boulevard South From Benaroya Ln to End of Street				\$50,913.50
	Street #47 Cap Adkins (Length 8,650', Width 25') From Hobbs Island Rd to Hegia Burrow Rd				
362	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	2,125	TON	\$85.34	\$181,347.50
363	Milling 0-2" Total Mill	24,500	SY	\$1.37	\$33,565.00
	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	500	TON	\$75.00	\$37,500.00
364	(1070 RAL)				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a	ug out 6-8" deep a ne onsite inspecto at the time of cons ty inspector.	r. Further subgrad
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
366	Solid Class 2 Traffic Stripe	4.910	MI	\$4,080.00	\$20,032.80
367	Solid Temporary Traffic Stripe	9.820	MI	\$1,428.00	\$14,022.96
368	Broken Class 2 Traffic Stripe	0.400	MI	\$2,550.00	\$1,020.00
369	Broken Temporary Traffic Stripe	0.800	MI	\$1,428.00	\$1,142.40
370	Raised Traffic Markers	440	EA	\$7.65	\$3,366.00
	TOTAL Street #47 Cap Adkins From Hobbs Island Rd to Hegia Burrow Rd				\$298,996.66
	Street #48 Chimney Hollow Trl (Length 950', Width 26') From Astalot Dr to End of Street		:=	1-	
371	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	310	TON	\$104.40	\$32,364.00
372	Milling 0-2" Total Mill	3,500	SY	\$1.42	\$4,970.00
	414B 1" Mix Binder (Base Failure) Layer in Place	100	TON	\$50.00	\$5,000.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10,10,2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the discretion of the determine a	ug out 6-8" deep a ne onsite inspecto at the time of cons ty inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
374	Dense Graded Base	50	TON	\$35.00	\$1,750.00
375	Manhole Adjustment	1	EA	\$1,000.00	\$1,000.00
376	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	130	LF	\$60.18	\$7,823.40
	Remove and Replace Curb and Gutter (MEET ADA	230	LF	\$59.16	********
377	COMPLIANCE)	230		\$55.10	\$13,606.80
377		230	Li	\$09.10	\$66,514.20
377	COMPLIANCE) TOTAL Street #48 Chimney Hollow Trl From Astalot	230	Li	\$55.10	
377	COMPLIANCE) TOTAL Street #48 Chimney Hollow Trl From Astalot Dr to End of Street Street #49 Colchester Ave (Length 550', Width 26')	160	TON	\$110.85	

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bed determine a	ig out 6-8" deep al le onsite inspector t the time of consi ty inspector.	. Further subgrad
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
380	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
381	Dense Graded Base	25	TON	\$35.00	\$875.00
	TOTAL Street #49 Colchester Ave from Saint Alban Blv to End of Street				\$25,141.00
	Street #50 Earlwood Dr (Length 1,000', Width 26') From Southhurst Dr to End of Street				•
382	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	275	TON	\$104.40	\$28,710.00
383	Milling 0-2" Total Mill	3,000	SY	\$1.42	\$4,260.00
384	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
385	Dense Graded Base	25	TON	\$35.00	\$875.00
	Sidewalk Remove and Replacement (MEET ADA		LF	\$60.18	\$3,610.80

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a	ug out 6-8" deep ar ne onsite inspector at the time of const ty inspector.	. Further subgrad
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	TOTAL Street #50 Earlwood Dr From Southhurst Dr			11 2530 613370	
	to End of Street				\$38,705.80
					\$38,705.80
387	to End of Street Street #51 East Tupelo Dr (Length 500', Width 28')	205	TON	\$104.40	\$38,705.80 \$21,402.00
387	to End of Street Street #51 East Tupelo Dr (Length 500', Width 28') From Jessamine Ln to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15%	205	TON	\$104.40 \$3.20	
	to End of Street Street #51 East Tupelo Dr (Length 500', Width 28') From Jessamine Ln to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick				\$21,402.00
388	to End of Street Street #51 East Tupelo Dr (Length 500', Width 28') From Jessamine Ln to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place	2,200	SY	\$3.20	\$21,402.00 \$7,040.00
388	to End of Street Street #51 East Tupelo Dr (Length 500', Width 28') From Jessamine Ln to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	2,200	SY	\$3.20 \$50.00	\$21,402.00 \$7,040.00 \$1,250.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the object of the determine a		nd backfilled with Further subgrade rution by the onisil
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
393	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #51 East Tupleo Dr From Jessamine Ln to End of Street				\$36,625.80
	Street #52 Ells Rd (Length 3,550', Width 26') From Yorkshire Dr to Oak Dairy Ln	1			
394	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	900	TON	\$86.62	\$77,958.00
395	Milling 0-2" Total Mill	10,500	SY	\$1.47	\$15,435.00
396	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$50.00	\$5,000.00
397	Dense Graded Base	50	TON	\$35.00	\$1,750.00
398	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	70	LF	\$60.18	\$4,212.60

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/10/2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a	ug out 6-8" deep ar ne onsite inspector at the time of consi ty inspector.	. Further subgra
ítem #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
399	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	170	LF	\$59.16	\$10,057.20
400	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
401	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Perpendicular Midblock (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
402	Raised Traffic Markers	20	EA	\$7.65	\$153.00
	TOTAL Street #52 Ells Rd From Yorkshire Dr to Oak Dalry Ln			1	\$121,909.80
	Street #53 Ensley Dr (Length 3,300', Width 26') From Logan Dr to Logan Dr				
403	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	890	TON	\$86.62	\$77,091.80

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a		nd backfilled with r. Further subgrad trution by the onisi
ítem #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
405	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$50.00	\$5,000.00
406	Dense Graded Base	25	TON	\$35.00	\$875.00
407	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	35	SY	\$163.20	\$5,712.00
408	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	60	LF	\$60.18	\$3,610.80
409	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	90	LF	\$59.16	\$5,324.40
410	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	4	EA	\$1,836.00	\$7,344.00
411	Solid Class 2 Traffic Stripe	0.060	МІ	\$4,080.00	\$244.80
412	Solid Temporary Traffic Stripe	0.120	MI	\$1,428.00	\$171.36

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the obedetermine a		nd backfilled with r. Further subgrad trution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
413	Raised Traffic Markers	20	EA	\$7.65	\$153.00
	TOTAL Street #53 Ensley Dr From Logan Dr to Logan Dr				\$120,594.66
	Street #54 Epping PI (Length 160', Width 27') From Greentree Trl To End of Street				
414	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	125	TON	\$110.85	\$13,856.25
415	Milling 0-2" Total Mill	1,160	SY	\$3.20	\$3,712.00
416	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
417	Dense Graded Base	50	TON	\$35.00	\$1,750.00
	TOTAL Street #54 Epping PI From Greentree Trl to End of Street		**		\$21,818.25
	Street #55 Hearthstone Cir (Length 200', Width 25') From Wynterhall Rd to Cul-De-Sac				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a	ug out 6-8" deep an ne onsite inspector at the time of consi ty inspector.	r. Further subgra
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
418	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	115	TON	\$110.85	\$12,747.75
419	Milling 0-2" Total Mill	1,100	SY	\$3.20	\$3,520.00
420	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
421	Dense Graded Base	25	TON	\$35.00	\$875.00
422	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	25	SY	\$163.20	\$4,080.00
423	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	15	LF	\$60.18	\$902.70
424	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	20	LF	\$59.16	\$1,183.20
	TOTAL Street #55 Hearthstone Cir From Wynterhall Rd to Cul-De-Sac				\$24,558.65

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the description of the determine a	ug out 6-8" deep a ne onsite inspector at the time of cons ty inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	Street #56 Kingston Ct (Length 250', Width 28') From Mathls Dr to End of Street	DID CO.	DID DITT	DIDITIOE	I DIO AMODITI
425	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	150	TON	\$110.85	\$16,627.50
426	Milling 0-2" Total Mill	1,450	SY	\$3.20	\$4,640.00
427	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
428	Dense Graded Base	25	TON	\$35.00	\$875.00
429	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	70	LF	\$60.18	\$4,212.60
430	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	115	LF	\$59.16	\$6,803.40
	TOTAL Street #56 Kingston Ct From Mathis Dr to End of Street				\$34,408.50

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a		nd backfilled with r. Further subgrade trution by the onisit
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	Street #57 Lantern Walk SE (Length 1,200', Width 26') From Wynterhall Rd to Chaney Thompson Rd				•
431	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	350	TON	\$104.40	\$36,540.00
432	Milling 0-2" Total Mill	3,600	SY	\$1.42	\$5,112.00
433	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$50.00	\$5,000.00
434	Dense Graded Base	25	TON	\$35.00	\$875.00
435	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	80	LF	\$60.18	\$4,814.40

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the object of the determine a		nd backfilled with r. Further subgrade trution by the onisit
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
437	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #57 Lantern Walk SE From Wynterhall Rd to Chaney Thompson Rd		l.:	48	\$71,395.00
	Street #58 Marinawoods Dr (Length 1,280', Width 28') From Memorial Pky to Hobbs Rd				
438	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	365	TON	\$104.40	\$38,106.00
439	Milling 0-2" Total Mill	4,140	SY	\$1.42	\$5,878.80
440	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$50.00	\$5,000.00
441	Dense Graded Base	50	TON	\$35.00	\$1,750.00
442	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	150	LF	\$59.16	\$8,874.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET		1		
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the discretion of the determine a		nd backfilled with r. Further subgrad rrution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
443	Remove and Replace Concrete Crossdrain (MEET ADA COMPLIANCE)	20	SY	\$132.60	\$2,652.00
444	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #58 Marinawoods Dr From Memorial Pky to Hobbs Rd				\$65,932.80
	Street #59 Mohican Dr (Length 175', Width 27') From Chicamauga Trl to End of Street				
445	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	75	TON	\$110.85	\$8,313.75
446	Milling 0-2" Total Mill	650	SY	\$3.20	\$2,080.00
447	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 5)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen		nd backfilled with r. Further subgrade rrution by the onisit
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
449	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	22	SY	\$163.20	\$3,590.40
450	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	30	LF	\$59.16	\$1,774.80
	TOTAL Street #59 Mohican Dr From Chicamauga Tri to End of Street			,	\$17,883.95
	Street #60 Seasons Ct (Length 240', Width 27') From Wynsom Dr to End of Street				
451	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	140	TON	\$110.85	\$15,519.00
452	Milling 0-2" Total Mill	1,350	SY	\$3.20	\$4,320.00
453	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
454	Dense Graded Base	25	TON	\$35.00	\$875.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)			1	10/18/2022
	GONTHILD (NEVISED LEK ADDENDOM NO. 0)				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the obedetermine a		nd backfilled with r. Further subgrad trution by the onis
item#	DESCRIPTION	BID QTY	I BID UNIT	BID PRICE	BID AMOUNT
455	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	30	LF	\$60.18	\$1,805.40
	TOTAL Street #60Seasons Ct From Wynsom Dr to End of Street				\$23,769.40
	Street #61 Sutton Rd (Length 2,700', Width 81') From US 431 Hwy to Old Blg Cove Rd				
456	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	2,200	TON	\$85.34	\$187,748.00
457	Milling 0-2" Total Mill	25,500	SY	\$1,37	\$34,935.00
458	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$50.00	\$5,000.00
459	Dense Graded Base	25	TON	\$35.00	\$875.00
	Q Loops	9	EA	\$1,275.00	\$11,475.00
460					

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a	ug out 6-8" deep a ne onsite inspecto it the time of cons ty inspector.	r. Further subgrad
ítem #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
462	Solid Temporary Traffic Stripe	1.600	MI	\$1,428.00	\$2,284.80
463	Broken Class 2 Traffic Stripe	3.400	MI	\$2,550.00	\$8,670.00
464	Broken Temporary Traffic Stripe	6.700	MI	\$1,428.00	\$9,567.60
465	Traffic Control Markings	5602	SF	\$7.65	\$42,855.30
466	Traffic Control Legends	360	SF	\$7.65	\$2,754.00
467	Raised Traffic Markers	875	EA	\$7.65	\$6,693.75
468	Dotted Traffic Stripe	1150	LF	\$3.06	\$3,519.00
	TOTAL Street #61 Sutton Rd From US 431 Hwy to Old Big Cove Rd				\$319,641.45
	Street #62 Thornmor Dr (Length 875', Width 28') From Villaret Dr to Villaret Dr				
	424A 1/2" Mix 4 Wearing Surface Layer in Place (15%				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the object of the determine a		nd backfilled with r. Further subgrad trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	I BID AMOUNT
470	Milling 0-2" Total Mill	2,900	SY	\$3.20	\$9,280.00
471	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
472	Dense Graded Base	25	TON	\$35.00	\$875.00
473	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	24	SY	\$163.20	\$3,916.80
474	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	60	LF	\$60.18	\$3,610.80
475	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	100	LF	\$59.16	\$5,916.00
476	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY3 Combination Midblock (ALDOT Drawing SW-618 Index #736)	2	EA	\$2,500.00	\$5,000.00
	TOTAL Street #62 Thornmor Dr From Villaret Dr to Villaret Dr				\$57,514.60

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mlx will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of th o be determine a		nd backfilled with r. Further subgrad trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	Street #63 Valley Ln (Length 2,100', Width 27') From Weatherly Rd to End of Street				
477	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	680	TON	\$89.93	\$61,152.40
478	Milling 0-2" Total Mill	7,500	SY	\$1.56	\$11,700.00
479	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	500	TON	\$50.00	\$25,000.00
480	Dense Graded Base	100	TON	\$35.00	\$3,500.00
481	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	45	SY	\$163.20	\$7,344.00
482	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	40	LF	\$60.18	\$2,407.20
483	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	100	LF	\$59.16	\$5,916.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the beginning of the determine a	ug out 6-8" deep a ne onsite inspector at the time of consi ty inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
484	Speed Table Install/22' Flat Topped	3	EA	\$6,494.24	\$19,482.72
485	Solid Class 2 Traffic Stripe	1.040	М	\$4,080.00	\$4,243.20
486	Solid Temporary Traffic Stripe	2.080	MI	\$1,428.00	\$2,970.24
	TOTAL Street #63 Valley Ln From Weatherly Rd to End of Street				\$143,715.76
	Street #64 VIllaret Dr (Length 7,000', Width 26') From Southpark Blv to End of Street				
487	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	1,770	TON	\$88.15	\$156,025.50
		20,800	SY	\$1.49	\$30,992.00
488	Milling 0-2" Total Mill				
488 489	Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$50.00	\$5,000.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a	e onsite inspector	nd backfilled with r. Further subgrad trution by the onis
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
491	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	110	SY	\$163.20	\$17,952.00
492	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	175	LF	\$60.18	\$10,531.50
493	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	220	LF	\$59.16	\$13,015.20
494	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
495	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY3 Combination Midblock (ALDOT Drawing SW-618 Index #736)	2	EA	\$2,500.00	\$5,000.00
	TOTAL Street #64 Villaret Dr From Southpark Blv to End of Street				\$243,063.20
	Street #65 Weatherly Rd (Length 2,900', Width 24') From Bailey Cove Rd to Valley Ln				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen	ug out 6-8" deep and the consite inspector it the time of consity inspector.	r. Further subgra
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
496	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	685	TON	\$89.93	\$61,602.05
497	Milling 0-2" Total Mill	8,000	SY	\$1.56	\$12,480.00
498	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
499	Dense Graded Base	25	TON	\$35.00	\$875.00
500	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	100	LF	\$60.18	\$6,018.00
501	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	180	LF	\$59.16	\$10,648.80
502	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	4	EA	\$1,836.00	\$7,344.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a		nd backfilled with r. Further subgrad trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
503	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY3 Combination Midblock (ALDOT Drawing SW-618 Index #736)	2	EA	\$3,000.00	\$6,000.00
504	Solid Class 2 Traffic Stripe	2.080	MI	\$4,080.00	\$8,486.40
505	Solid Temporary Traffic Stripe	4.160	MI	\$1,428.00	\$5,940.48
506	Broken Class 2 Traffic Stripe	0.020	MI	\$2,550.00	\$51.00
507	Broken Temporary Traffic Stripe	0.040	MI	\$1,428.00	\$57.12
508	Traffic Control Markings	638	SF	\$7.65	\$4,880.70
509	Traffic Control Legends	17	SF	\$7.65	\$130.05
510	Raised Traffic Markers	100	EA	\$7.65	\$765.00
	TOTAL Street #65 Weatherly Rd From Balley Cove Rd to Valley Ln				\$127,778.60
	Street #66 Avery Ave (Length 830', Width 26') From Binderton PI to McCalley PI				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen		nd backfilled with Further subgraderution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
511	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	230	TON	\$104.40	\$24,012.00
512	Milling 0-2" Total Mill	2,400	SY	\$3.20	\$7,680.00
513	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	15	TON	\$50.00	\$750.00
514	Manhole Riser	2	EA	\$300.00	\$600.00
515	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	170	SY	\$163.20	\$27,744.00
516	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	50	LF	\$60.18	\$3,009.00
	Remove and Replace Curb and Gutter (MEET ADA				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the observation of the determine a		nd backfilled with Further subgrade rution by the onisit
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
518	Remove and Replace Concrete Crossdrain (MEET ADA COMPLIANCE)	25	SY	\$132.60	\$3,315.00
519	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	4	EA	\$1,836.00	\$7,344.00
520	Speed Cushions/Remove Only	1	EA	\$350.00	\$350.00
521	Speed Table Install/22' Flat Topped	1	EA	\$6,494.24	\$6,494.24
	TOTAL Street #66 Avery Ave From Binderton PI to McCalley PI				\$104,962.24
	Street #67 Arthur St (Length 1,570', Width 23') From Karter St to Saundralane Dr				
522	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	360	TON	\$104.40	\$37,584.00
523	Milling 0-2" Total Mill	4,040	SY	\$1.42	\$5,736.80

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a		nd backfilled with r. Further subgrade trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
524	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	100	TON	\$50.00	\$5,000.00
525	Manhole Riser	6	EA	\$300.00	\$1,800.00
526	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	50	SY	\$163.20	\$8,160.00
527	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	320	EA	\$59.16	\$18,931.20
	TOTAL Street #67 Arthur St From Karter St to Saundralane Dr				\$77,212.00
	Street #68 Billie Watkins St (Length 1,360', Width 26') From Marsheutz Ave to Bob Wallace Ave				
528	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	350	TON	\$104.40	\$36,540.00
529	Milling 0-2" Total Mill	3.940	SY	\$1.42	\$5,594,80

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	QOARTITIES (REVISED PER ADDENDOW NO. 6)			<u> </u>	
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen the determine a	ug out 6-8" deep a ne onsite inspector at the time of consi ty inspector.	. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
530	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	75	TON	\$50.00	\$3,750.00
531	Manhole Riser	5	EA	\$300.00	\$1,500.00
532	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	90	SY	\$163.20	\$14,688.00
533	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	80	LF	\$60.18	\$4,814.40
534	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	200	LF	\$59.16	\$11,832.00
535	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
536	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2A Parallel Midblock (ALDOT Drawing SW-618 Index #736	2	EA	\$1,989.00	\$3,978.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	QOAN TITLES (REVISED PER ADDENDUM NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of tl o be determine a	ug out 6-8" deep a ne onsite inspecto at the time of cons ty inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
537	Solid Class 2 Traffic Stripe	0.080	MI	\$4,080.00	\$326.40
538	Solid Temporary Traffic Stripe	0.160	MI	\$1,428.00	\$228.48
539	Traffic Control Markings	272	SF	\$7.65	\$2,080.80
540	Traffic Control Legends	22.41	SF	\$7.65	\$171.44
541	Raised Traffic Markers	20	EA	\$7.65	\$153.00
	TOTAL Street #678 Billie Watkins St From Marsheutz Ave to Bob Wallace Ave				\$89,329.32
	Street #69 Brickell Rd (Length 2,260', Width 26') From End of Street to Holmes Ave				
542	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	550	TON	\$92.01	\$50,605.50
543	Milling 0-2" Total Mill	6,540	SY	\$1.42	\$9,286.80
	414B 1" Mix Binder (Base Failure) Layer in Place	75	TON	\$50.00	\$3,750,00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/10/2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a	ne onsite inspecto	nd backfilled with r. Further subgrad trution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
545	Manhole Riser	5	EA	\$300.00	\$1,500.00
546	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	90	SY	\$163.20	\$14,688.00
547	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	230	LF	\$60.18	\$13,841.40
548	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	300	LF	\$59.16	\$17,748.00
549	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
550	Speed Cushions/Remove Only	2	EA	\$350.00	\$700.00
551	Speed Table Install/22' Flat Topped	2	EA	\$6,494.24	\$12,988.48

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a		nd backfilled with r. Further subgrad trution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	TOTAL Street #69 Brickell Rd From End of Street to Holmes Ave				\$130,195.43
	HOURIES AVE	8			
	Street #70 Brown St (Length 760', Width 20') From End of Street to Clinton Ave				
553	Street #70 Brown St (Length 760', Width 20') From	150	TON	\$110.85	\$16,627.50
553 554	Street #70 Brown St (Length 760', Width 20') From End of Street to Clinton Ave 424A 1/2" Mix 4 Wearing Surface Layer in Place (15%	150	TON	\$110.85 \$3.20	\$16,627.50 \$5,440.00
	Street #70 Brown St (Length 760', Width 20') From End of Street to Clinton Ave 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick			X /// X // X	
554	Street #70 Brown St (Length 760', Width 20') From End of Street to Clinton Ave 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place	1,700	SY	\$3.20	\$5,440.00
554 555	Street #70 Brown St (Length 760', Width 20') From End of Street to Clinton Ave 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	1,700	SY	\$3.20 \$50.00	\$5,440.00 \$500.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10.10.2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a	ug out 6-8" deep and an e onsite inspector at the time of consity inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
559	Traffic Control Markings	40	SF	\$7.65	\$306.00
	TOTAL Street #71 Brown St From End of Street to Clinton Ave				\$26,813.10
	Street #71 Central Ave (Length 700', Width 26') From	ĺ			
	Whitesburg Dr to California St			-	
560	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	180	TON	\$110.85	\$19,953.00
560 561	424A 1/2" Mix 4 Wearing Surface Layer in Place (15%	180	TON	\$110.85 \$3.20	\$19,953.00 \$6,560.00
	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick				
561	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place	2,050	SY	\$3.20	\$6,560.00
561	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	2,050	SY	\$3.20 \$50.00	\$6,560.00 \$1,250.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a		nd backfilled with r. Further subgrad trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
566	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	90	LF	\$59.16	\$5,324.40
567	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
568	Traffic Control Markings	30	SF	\$7.65	\$229.50
	TOTAL Street #71 Central Ave From Whitesburg Dr to California St				\$54,382.30
	Street #72 Clayrest Dr (Length 1,200', Length 26') From End of Street to Henderson Rd				
569	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	315	TON	\$104.40	\$32,886.00
570	Milling 0-2" Total Mill	3,500	SY	\$1.42	\$4,970.00
571	414B 1" Mix Binder (Base Failure) Layer in Place	25	TON	\$50.00	\$1,250.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the object of the determine a		nd backfilled with r. Further subgrad trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
572	Dense Graded Base	25	TON	\$35.00	\$875.00
573	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	140	SY	\$163.20	\$22,848.00
574	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	30	LF	\$60.18	\$1,805.40
575	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	120	LF	\$59.16	\$7,099.20
576	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #72 Clayrest Dr From End of Street to Henderson Rd		·		\$75,405.60
	Street #73 Dyshell Dr (Length 770', Width 36') From Judith Ln to Jordan Ln				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen the determine a	ug out 6-8" deep and and onsite inspector it the time of consity inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
577	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	300	TON	\$104.40	\$31,320.00
578	Milling 0-2" Total Mill	3,280	SY	\$1.42	\$4,657.60
579	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
580	Dense Graded Base	25	TON	\$35.00	\$875.00
	TOTAL Street #73 Dyshell Dr From Judith Ln to Jordan Ln				\$38,102.60
	Street #74 Fairacres Rd (Length 4,250', Width 26') From Hale Dr to Bob Wallace Ave				
581	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	1,100	TON	\$85.29	\$93,819.00
582	Milling 0-2" Total Mill	12,450	SY	\$1.59	\$19,795,50

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen the determine a		nd backfilled with r. Further subgrade trution by the onisit
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
583	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	150	TON	\$50.00	\$7,500.00
584	Dense Graded Base	75	TON	\$35.00	\$2,625.00
585	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	115	SY	\$163.20	\$18,768.00
586	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	50	LF	\$60.18	\$3,009.00
587	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	300	LF	\$59.16	\$17,748.00
588	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	1	EA	\$1,836.00	\$1,836.00
589	Solid Class 2 Traffic Stripe	0.080	MI	\$4,080.00	\$326.40
590	Temporary Class 2 Traffic Stripe				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of th o be determine a		nd backfilled with r. Further subgrad trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
591	Traffic Control Markings	473	SF	\$7.65	\$3,618.45
592	Traffic Control Legends	45	SF	\$7.65	\$344.25
593	Raised Traffic Markers	120	EA	\$7.65	\$918.00
	TOTAL Street #74 Fairacres Rd From Hale Dr to Bob Wallace Ave		N =====		\$170,536.08
	Street #75 Foster Ave (Length 720', Width 26') From Eunice St to Penny St				11
594	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	260	TON	\$104.40	\$27,144.00
595	Milling 0-2" Total Mill	3,000	SY	\$1.42	\$4,260.00
596	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	75	TON	\$50.00	\$3,750.00
597	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	90	SY	\$163.20	\$14,688.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a		nd backfilled with r. Further subgrade trution by the onisit
ítem #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
598	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	20	LF	\$60.18	\$1,203.60
599	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	80	LF	\$59.16	\$4,732.80
600	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	1	EA	\$1,836.00	\$1,836.00
601	Raised Traffic Markers	15	EA	\$7.65	\$114.75
	TOTAL Street #75 Foster Ave From Eunice St to Penny St)			\$67,729.15
_	Street #76 Gleneagles Dr (Length 605', Width 27') From Balmoral Dr to End of Street				
602	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	230	TON	\$104.40	\$24,012.00
603	Milling 0-2" Total Mill	2,550	SY	\$3.20	\$8,160.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)	-			
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a	ug out 6-8" deep ar ne onsite inspector It the time of const ty inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
604	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
605	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	130	SY	\$163.20	\$21,216.00
606	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	100	LF	\$60.18	\$6,018.00
607	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	100	LF	\$59.16	\$5,916.00
608	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #76 Gleneagles Dr From Balmoral Dr to End of Street				\$70,244.00
	Street #77 Hermitage Wood Dr (Length 1,000', Width 26') From Marsh Ave to End of Street				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen the determine a		nd backfilled with r. Further subgrade trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
609	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	275	TON	\$104.40	\$28,710.00
610	Milling 0-2" Total Mill	3,000	SY	\$1.42	\$4,260.00
611	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	75	TON	\$50.00	\$3,750.00
612	Dense Graded Base	25	TON	\$35.00	\$875.00
613	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	145	SY	\$163.20	\$23,664.00
614	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	30	LF	\$60.18	\$1,805.40
	Remove and Replace Curb and Gutter (MEET ADA	130	LF	\$59.16	

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a	ug out 6-8" deep a ne onsite inspector It the time of consi ty inspector.	r. Further subgrad
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
616	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #77 Hermitage Wood Dr From Marsh Ave to End of Street				\$74,427.20
	Street #78 Hillcrest Ct (Length 608',Width 20') From Triana Blv to Triana Blv		at-	a	ē
617	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	130	TON	\$110.85	\$14,410.50
618	Milling 0-2" Total Mill	1,450	SY	\$3.20	\$4,640.00
619	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
620	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	80	LF	\$60.18	\$4,814.40
	Remove and Replace Curb and Gutter (MEET ADA	60	LF	\$59.16	\$3,549,60

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	QUANTITIES (REVISED PER ADDENDOW NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of th o be determine a	ug out 6-8" deep a ne onsite inspecto It the time of cons ty inspector.	r. Further subgra
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
622	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	4	EA	\$1,836.00	\$7,344.00
	TOTAL Street #78 Hillcrest Ct From Triana Blv to Triana Blv				\$36,008.50
	Street #79 Hunt Dr (Length 1,235', Width 26') From Brickell Rd to Speake Rd				
623	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	330	TON	\$104.40	\$34,452.00
624	Milling 0-2" Total Mill	3,650	SY	\$1.42	\$5,183.00
625	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
626	Dense Graded Base	25	TON	\$35.00	\$875.00
627	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	130	SY	\$163.20	\$21,216.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a	ug out 6-8" deep and and onsite inspector it the time of consity inspector.	r. Further subgrad
tem#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
628	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	100	LF	\$59.16	\$5,916.00
629	Speed Cushions/Removal Only	1	EA	\$350.00	\$350.00
	TOTAL Street #79 Hunt Dr From Brickell Rd to Speake Rd				\$70,492.00
	Street #80 Langford Ave (Length 1,200', Width 22') From Jackson St to Brown St				
630	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	280	TON	\$104.40	\$29,232.00
631	Milling 0-2" Total Mill	3,000	SY	\$1.42	\$4,260.00
	414B 1" Mix Binder (Base Failure) Layer in Place	15	TON	\$50.00	\$750.00
632	(15% RAP)				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the discretion of the determine a		nd backfilled with r. Further subgrade trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
634	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	30	SY	\$163.20	\$4,896.00
635	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	100	LF	\$59.16	\$5,916.00
636	Solid Class 2 Traffic Stripe	0.010	MI	\$4,080.00	\$40.80
637	Solid Temporary Traffic Stripe	0.020	MI	\$1,428.00	\$28.56
	TOTAL Street #80 Langford Ave From Jackson St to Brown St				\$46,023.36
	Street #81 Lilac Cir (Length 630', Width 26') From End of Street to Buttercup Dr				
638	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	230	TON	\$104.40	\$24,012.00
639	Milling 0-2" Total Mill	2,400	SY	\$3.20	\$7,680.00
640	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a		nd backfilled with r. Further subgrade trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
641	Manhole Riser	4	EA	\$300.00	\$1,200.00
642	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	100	SY	\$163.20	\$16,320.00
643	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	200	LF	\$59.16	\$11,832.00
	TOTAL Street #81 Lilac Cir From End of Street to Buttercup Dr	= '			\$62,294.00
	Street #82 McClung Dr (Length 2,000, Width 35') From Adams St to California St				
644	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	700	TON	\$89.93	\$62,951.00
645	Milling 0-2" Total Mill	8,000	SY	\$1,56	\$12,480.00
646	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	75	TON	\$50.00	\$3,750.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen of the determine a		nd backfilled with Further subgrade Trution by the onisit
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
647	Dense Graded Base	25	TON	\$35.00	\$875.00
648	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	85	SY	\$163.20	\$13,872.00
649	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	215	LF	\$60.18	\$12,938.70
650	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	315	LF	\$59.16	\$18,635.40
651	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY2 Blended Corner (ALDOT Drawing SW-618 Index #735)	1	EA	\$1,989.00	\$1,989.00
652	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Perpendicular Midblock (ALDOT Drawing SW-618 Index #735)	1	EA	\$1,836.00	\$1,836.00
653	Solid Class 2 Traffic Stripe	0.090	ML	\$4,080.00	\$367.20

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a	ug out 6-8" deep a ne onsite inspector at the time of consi ty inspector.	r. Further subgrad
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
655	Traffic Control Markings	175	SF	\$7.65	\$1,338.75
656	Traffic Control Legends	23	SF	\$7.65	\$175.95
	TOTAL Street #82 McClung Dr From Adams St to California St				\$131,466.04
	Street #83 North Rose Dr (Length 1,550', Width 18') From Ninth Ave to Pine Ave				
657	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	300	TON	\$104.40	\$31,320.00
658	Milling 0-2" Total Mill	3,250	SY	\$1.42	\$4,615.00
659	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00
660	Dense Graded Base	25	TON	\$35.00	\$875.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/10/2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a	ug out 6-8" deep and the consite inspector at the time of consity inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
662	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	30	LF	\$60.18	\$1,805.40
663	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	15	LF	\$59.16	\$887.40
664	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
665	Traffic Control Markings	132	SF	\$7.65	\$1,009.80
	TOTAL Street #83 North Rose Dr From Ninth Ave to Pine Ave				\$48,643.00
	Street #84 Oak Glen Ter (Length 450', Width 26') From Squaw Valley Dr to End of Street				
666	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	185	TON	\$110.85	\$20,507.25

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
_	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10,70,202
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a	ig out 6-8" deep ai le onsite inspector t the time of consi y inspector.	. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
668	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
669	Dense Graded Base	25	TON	\$35.00	\$875.00
670	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	80	SY	\$163.20	\$13,056.00
671	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	90	LF	\$60.18	\$5,416.20
672	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	40	LF	\$59.16	\$2,366.40
673	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #84 Oak Glen Ter From Squaw Valley				\$53,382.85

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10:10:202
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a	ug out 6-8" deep a ne onsite inspector at the time of consi ty inspector.	r. Further subgra
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	Street #85 Pepperwood Cir (Length 338', Width 26') From Eagletree Ln to Cul-De-Sac				
674	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	170	TON	\$110.85	\$18,844.50
675	Milling 0-2" Total Mill	1,700	SY	\$3.20	\$5,440.00
676	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
677	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	60	SY	\$163.20	\$9,792.00
678	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	80	LF	\$60.18	\$4,814.40
679	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	80	LF	\$59.16	\$4,732.80

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the discretion of the determine a		nd backfilled with r. Further subgrad trution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	I BID AMOUNT
680	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #85 Pepperwood Cir From Eagletree Ln to Cul-De-Sac		1	•	\$48,545.70
	Street #86 Rainey Dr (Length 150', Width 27') From Crestwood Dr to End of Street				
681	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	75	TON	\$110.85	\$8,313.75
682	Milling 0-2" Total Mill	550	SY	\$3.20	\$1,760.00
683	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
684	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	50	SY	\$163.20	\$8,160.00
685	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	40	LF	\$59.16	\$2,366.40

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a	g out 6-8" deep ar te onsite inspector t the time of const ty inspector.	. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	TOTAL Street #86 Rainey Dr From Crestwood Dr to End of Street				\$21,850.15
	Street #87 Roland Rd (Length 755', Width 27') From Newby Rd to First St				
686	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	225	TON	\$104.40	\$23,490.00
687	Milling 0-2" Total Mill	2,400	SY	\$3.20	\$7,680.00
	414B 1" Mix Binder (Base Failure) Layer in Place	50	TON	\$50.00	\$2,500.00
688	(15% RAP)			CANADA OF C	\$2,500.00
688	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	17	SY	\$163.20	\$2,774.40
	Remove and Replace Concrete Driveway Apron	17	SY	\$163.20 \$60.18	

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a		nd backfilled with r. Further subgrade trution by the onisit
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
692	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #87 Roland Rd From Newby Rd to First St				\$45,481.60
	Street #88 Tulip Ln (Length 210', Width 26') From End of Street to Lilac Cir				
693	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	70	TON	\$110.85	\$7,759.50
694	Milling 0-2" Total Mill	620	SY	\$3.20	\$1,984.00
695	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	10	TON	\$50.00	\$500.00
	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	11	SY	\$163.20	\$1,795.20

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a	ug out 6-8" deep a ne onsite inspector at the time of consi ty inspector.	. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
697	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	15	LF	\$59.16	\$887.40
698	Remove and Replace Concrete Crossdrain (MEET ADA COMPLIANCE)	12	SY	\$132.60	\$1,591.20
	TOTAL Street #88 Tulip Ln From End of Street to Lilac Cir				\$14,517.30
	Street #89 Westbury Dr (Length 2,030', Width 26') From Chadwell Rd to Whitesburg Dr				
699	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	525	TON	\$92.01	\$48,305.25
700	Milling 0-2" Total Mill	6,100	SY	\$1.56	\$9,516.00
701	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
702	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	120	SY	\$163.20	\$19,584.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a	ug out 6-8" deep and and the inspector it the time of consity inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
703	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	120	LF	\$60.18	\$7,221.60
704	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	200	LF	\$69.16	\$11,832.00
705	Remove and Replace Concrete Crossdrain (MEET ADA COMPLIANCE)	80	SY	\$132.60	\$10,608.00
706	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
707	Speed Table Install/ 22' Flat Topped	2	EA	\$6,494.24	\$12,988.48
708	Solid Class 2 Traffic Stripe	0.060	MI	\$4,080.00	\$244.80
709	Solid Temporary Traffic Stripe	0.120	МІ	\$1,428.00	\$171.36
710	Traffic Control Markings	50	SF	\$7.65	\$382.50

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a	ug out 6-8" deep an ne onsite inspector It the time of consi ty inspector.	. Further subgrade
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
711	Raised Traffic Markers	40	EA	\$7.65	\$306.00
	TOTAL OL 4 (100 10) (1 D T C) (1 C) (1 C)				
	TOTAL Street #89 Westbury Dr From Chadwell Rd to Whitesburg Dr				\$126,081.99
					\$126,081.99
712	Whitesburg Dr Street #90 West Ferry Way (Length 733', Width 26')	250	TON	\$104.40	\$126,081.99 \$26,100.00
712 713	Whitesburg Dr Street #90 West Ferry Way (Length 733', Width 26') From Leeman Ferry Rd to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15%	250 2,700	TON	\$104.40 \$3.20	
	Whitesburg Dr Street #90 West Ferry Way (Length 733', Width 26') From Leeman Ferry Rd to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick				\$26,100.00
713	Whitesburg Dr Street #90 West Ferry Way (Length 733', Width 26') From Leeman Ferry Rd to End of Street 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place	2,700	SY	\$3.20	\$26,100.00 \$8,640.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/10/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of tl o be determine a	ug out 6-8" deep and onsite inspector at the time of consity inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	TOTAL Street #90 West Ferry Way From Leeman				
	Ferry Rd to End of Street				\$44,884.40
	Ferry Rd to End of Street Street #91 West Oak Way (Length 600', Width 26') From End of Street to End of Street (Totals Include Both Cul-De-Sacs)				\$44,004.40
717	Street #91 West Oak Way (Length 600', Width 26') From End of Street to End of Street (Totals Include	270	TON	\$104.40	\$28,188.00
717 718	Street #91 West Oak Way (Length 600', Width 26') From End of Street to End of Street (Totals Include Both Cul-De-Sacs) 424A 1/2" Mix 4 Wearing Surface Layer in Place (15%	270 2,880	TON	\$104.40 \$3.20	
	Street #91 West Oak Way (Length 600', Width 26') From End of Street to End of Street (Totals Include Both Cul-De-Sacs) 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick				\$28,188.00
718	Street #91 West Oak Way (Length 600', Width 26') From End of Street to End of Street (Totals Include Both Cul-De-Sacs) 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place	2,880	SY	\$3.20	\$28,188.00 \$9,216.00
718 719	Street #91 West Oak Way (Length 600', Width 26') From End of Street to End of Street (Totals Include Both Cul-De-Sacs) 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	2,880	SY	\$3.20	\$28,188.00 \$9,216.00 \$2,500.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a	e onsite inspector	nd backfilled with r. Further subgrad trution by the onis
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
723	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	120	LF	\$59.16	\$7,099.20
	TOTAL Street # 91 West Oak Way From End of Street to End of Street			J.	\$63,091.00
	Street #92 Woodridge St (Length1,787', Width 27') From Westbury Dr to Jones Valley Dr				
724	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	475	TON	\$92.01	\$43,704.75
725	Milling 0-2" Total Mill	5,520	SY	\$1.42	\$7,838.40
726	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
727	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	100	SY	\$163.20	\$16,320.00
728	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	40	LF	\$60.18	\$2,407.20

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the discretion of the determine a		nd backfilled with Further subgrad rution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
729	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	180	LF	\$59.16	\$10,648.80
730	Remove and Replace Concrete Crossdrain (MEET ADA COMPLIANCE)	20	SY	\$132.60	\$2,652.00
731	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #92 Woodridge St From Westbury Dr to Jones Valley Dr				\$88,493.15
	Street #93 Bristol Ct (Length 170', Width 27') From Barren Fork Blv to End of Street		1		
732	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	125	TON	\$110.85	\$13,856.25
733	Milling 0-2" Total Mill	1,150	SY	\$3.20	\$3.680.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the obe determine a		nd backfilled with r. Further subgrad trution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
734	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
735	Dense Graded Base	25	TON	\$35.00	\$875.00
736	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	10	SY	\$163.20	\$1,632.00
737	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	30	LF	\$60.18	\$1,805.40
738	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	50	LF	\$59.16	\$2,958.00
739	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #93 Bristol Ct From Barren Fork Blv to End of Street				\$29,728.65
	Street #94 Cotton Row (Length 1,840', Width 27') From Sparkman Dr to End of Street				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the bedeen the determine a		nd backfilled with Further subgraderution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
740	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	540	TON	\$92.01	\$49,685.40
741	Milling 0-2" Total Mill	6,200	SY	\$1.56	\$9,672.00
742	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	75	TON	\$50.00	\$3,750.00
743	Dense Graded Base	25	TON	\$35.00	\$875.00
744	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	180	SY	\$163.20	\$29,376.00
745	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	80	LF	\$60.18	\$4,814.40
746	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	280	LF	\$59.16	\$16,564.80

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of t o be determine		nd backfilled with r. Further subgrade trution by the onisi
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
747	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
748	Traffic Control Markings	30	SF	\$7.65	\$229.50
	TOTAL Street #94 Cotton Row From Sparkman Dr to End of Street				\$118,639.10
	Street #95 Daugette Dr (Length 1,850', Width 26') From Dailey Ter to Calvert Rd				
749	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	475	TON	\$92.01	\$43,704.75
750	Milling 0-2" Total Mill	5,500	SY	\$1.42	\$7,810.00
	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	75	TON	\$50.00	\$3,750.00
751					

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a	ug out 6-8" deep and the consite inspector it the time of consity inspector.	. Further subgrad
ítem #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
753	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	115	SY	\$163.20	\$18,768.00
754	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	150	LF	\$59.16	\$8,874.00
	TOTAL Street #95 Daugette Dr From Dailey Ter to Calvert Rd			l	\$83,781.75
	Street #96 Deer Bridge Dr (Length 800', Width 27') From Willow Bluff Dr to End of Street				
755	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	280	TON	\$104.40	\$29,232.00
756	Milling 0-2" Total Mill	3,100	SY	\$1.42	\$4,402.00
757	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a		nd backfilled with r. Further subgrad trution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
759	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	20	SY	\$163.20	\$3,264.00
760	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	30	LF	\$60.18	\$1,805.40
761	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	40	LF	\$59.16	\$2,366.40
762	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	2	EA	\$1,836.00	\$3,672.00
	TOTAL Street #96 Deer Bridge Dr From Willow Bluff Dr to End of Street				\$48,116.80
	Street #97 Evangel Dr (Length 1,350', Width 20') From University Dr to Executive Dr	8			
763	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	310	TON	\$104.40	\$32,364.00
764	Milling 0-2" Total Mill	3,500	SY	\$1.42	\$4.970.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a	ig out 6-8" deep and the consite inspector of the time of consity inspector.	r. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
765	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	75	TON	\$50.00	\$3,750.00
766	Dense Graded Base	25	TON	\$35.00	\$875.00
767	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	30	LF	\$60.18	\$1,805.40
768	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	30	LF	\$59.16	\$1,774.80
769	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	1	EA	\$1,836.00	\$1,836.00
770	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Perpendicular Midblock (ALDOT Drawing SW-618 Index #735)	1	EA	\$1,836.00	\$1,836.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the best of the determine a		nd backfilled with r. Further subgrad rrution by the onis
ítem #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	TOTAL Street #97 Evangel Dr From University Dr to	THE PERSON NAMED IN COLUMN	70.000.00077.50		
	Executive Dr				\$49,440.70
					\$49,440.70
772	Executive Dr Street #98 Foxcroft Ter (Length 170', Width 27') From	120	TON	\$110.85	\$49,440.70 \$13,302.00
772	Street #98 Foxcroft Ter (Length 170', Width 27') From Shellbrook Dr to Cul-De-Sac 424A 1/2" Mix 4 Wearing Surface Layer in Place (15%	120 1,150	TON SY	\$110.85 \$3.20	
	Executive Dr Street #98 Foxcroft Ter (Length 170', Width 27') From Shellbrook Dr to Cul-De-Sac 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick				\$13,302.00
773	Executive Dr Street #98 Foxcroft Ter (Length 170', Width 27') From Shellbrook Dr to Cul-De-Sac 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Failure) Layer in Place	1,150	SY	\$3.20	\$13,302.00 \$3,680.00
773	Executive Dr Street #98 Foxcroft Ter (Length 170', Width 27') From Shellbrook Dr to Cul-De-Sac 424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick Milling 0-2" Total Mill 414B 1" Mix Binder (Base Fallure) Layer in Place (15% RAP)	1,150	SY	\$3.20 \$50.00	\$13,302.00 \$3,680.00 \$2,500.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a	ug out 6-8" deep and the consite inspector of the time of constructions of the time of constructions.	. Further subgrad
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
778	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY3 Combination Midblock (ALDOT Drawing SW-618 Index #736)	2	EA	\$2,500.00	\$5,000.00
	TOTAL Street #98 Foxcroft Ter From Shellbrok Dr to Cul-De-Sac				\$31,313.80
	Street #99 Heathland Dr (Length 1,400', Width 27') From University Dr to Cul-De-Sac (Totals include the Intrepid Cul-De-Sac and Pentax Stub Out)				
779	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	600	TON	\$89.93	\$53,958.00
780	Milling 0-2" Total Mill	6,900	SY	\$1.56	\$10,764.00
	414B 1" Mix Binder (Base Failure) Layer in Place	75	TON	\$50.00	\$3,750.00
781	(15% RAP)		-		

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the objection of the determine a		nd backfilled with r. Further subgrade trution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
783	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	30	SY	\$163.20	\$4,896.00
784	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	10	LF	\$60.18	\$601.80
785	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	20	LF	\$59.16	\$1,183.20
	TOTAL Street #99 Heathland Dr From University Dr to Cul-De-Sac		lu		\$76,028.00
	Street #100 Hollyknoll PI (Length 160', Width 27') From Shellbrook Dr To Cul-De-Sac				
786	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	115	TON	\$110.85	\$12,747.75
787	Milling 0-2" Total Mill	1,100	SY	\$3.20	\$3,520.00
788	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	50	TON	\$50.00	\$2,500.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				-
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of th o be determine a	ug out 6-8" deep a ne onsite inspector it the time of consi ty inspector.	r. Further subgrad
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
789	Dense Graded Base	25	TON	\$35.00	\$875.00
790	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	35	SY	\$163.20	\$5,712.00
791	Sidewalk Remove and Replacement (MEET ADA COMPLIANCE) (5' WIDE)	40	LF	\$60.18	\$2,407.20
792	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	120	LF	\$59.16	\$7,099.20
793	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TV3 Combination Midblock (ALDOT Drawing SW-618 Index #736)	2	EA	\$2,500.00	\$5,000.00
	TOTAL Street #100 Hollyknoll PI From Shellbrook to Cul-De-Sac				\$39,861.15
	Street #101 Kendall Ter (Length 600', Width 28') From Daugette Dr to Rutledge Dr	2			
794	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	185	TON	\$110.85	\$20,507.25

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the objection of the determine a		nd backfilled with r. Further subgrad trution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
795	Milling 0-2" Total Mill	1,950	SY	\$3.20	\$6,240.00
796	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	75	TON	\$50.00	\$3,750.00
797	Dense Graded Base	25	TON	\$35.00	\$875.00
798	Remove and Replace Concrete Driveway Apron (MEET ADA COMPLIANCE)	40	SY	\$163.20	\$6,528.00
799	Remove and Replace Curb and Gutter (MEET ADA COMPLIANCE)	50	LF	\$59.16	\$2,958.00
	TOTAL Street #101 Kendall Ter From Daugette Dr to Rutledge Dr				\$40,858.25
	Street #102 Laracy Dr (Length 1,470', Width 45') From				
	James Record Rd to James Record Rd				

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of the description of the determine a	ug out 6-8" deep a ne onsite inspector at the time of consi ty inspector.	r. Further subgra
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
801	Milling 0-2" Total Mill	7,550	SY	\$1.56	\$11,778.00
802	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	200	TON	\$50.00	\$10,000.00
803	Dense Graded Base	50	TON	\$35.00	\$1,750.00
804	Solid Class 2 Traffic Stripe	0.870	МІ	\$4,080.00	\$3,549.60
805	Solid Temporary Traffic Stripe	1.740	МІ	\$1,428.00	\$2,484.72
806	Broken Class 2 Traffic Stripe	0.230	MI	\$2,550.00	\$586.50
807	Broken Temporary Traffic Stripe	0.470	МІ	\$1,428.00	\$671.16
808	Traffic Control Markings	340	SF	\$7.65	\$2,601.00
809	Traffic Control Legends	22.41	SF	\$7.65	\$171.44
810	Raised Traffic Markers	140	EA	\$7.65	\$1,071.00
	TOTAL Street #102 Laracy Dr From James Record Rd to James Record Rd				\$97,614.42

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1				
	Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the bediese description of the determine a		nd backfilled with r. Further subgrade rution by the onisi
item#	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
	Street #103 Priscilla Ln (Length 880', Width 18') From Pamela Dr to End of Street				
811	424A 1/2" Mix 4 Wearing Surface Layer in Place (15% RAP after cleaning and tacking) 1-1/2" Thick	180	TON	\$110.85	\$19,953.00
812	Milling 0-2" Total Mill	1,850	SY	\$3.20	\$5,920.00
813	414B 1" Mix Binder (Base Failure) Layer in Place (15% RAP)	25	TON	\$50.00	\$1,250.00
814	Dense Graded Base	25	TON	\$35.00	\$875.00
	TOTAL Street #103 Priscilla Ln From Pamela Dr to End of Street				\$27,998.00
	TOTAL for ALL Streets				\$8,258,344.98
	Additional Items			11	
815	No. 2 Crushed Stone	150	TON	\$35.00	\$5,250.00
816	Mobilization	1	LS	\$618,000.00	\$618,000.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 6)				10/18/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55				
	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at the	e discretion of tl o be determine a	ug out 6-8" deep an ne onsite inspecton at the time of consi ty inspector.	. Further subgrad
item #	DESCRIPTION	BID QTY	BID UNIT	BID PRICE	BID AMOUNT
817	424A 1/2" Mix 4 Wearing Surface (Leveling) Layer in Place (15% RAP after cleaning and tacking)	500	TON	\$65.00	\$32,500.00
818	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Parallel Corner (ALDOT Drawing SW-618 Index #735)	5	EA	\$1,836.00	\$9,180.00
819	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1A Parallel Corner (ALDOT Drawing SW-618 Index #735)	5	EA	\$1,836.00	\$9,180.00
820	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2 Parallel Midblock (ALDOT Drawing SW-618 Index #736	5	EA	\$1,989.00	\$9,945.00
821	Handicap Ramps with ADA Detectable Warning Pavers (All Width) TY2A Parallel Midblock (ALDOT Drawing SW-618 Index #736	5	EA	\$1,989,00	\$9,945.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID				10/18/2022
	QUANTITIES (REVISED PER ADDENDUM NO. 6)				
_	Resurfacing of Residential Streets-2023, Phase 1	-			
	Project #100-2022-55				
,	UNIT BID SHEET				
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	e discretion of the objection of the obj	ug out 6-8" deep and the consite inspector in the time of consity inspector.	r. Further subgra
tem#	DE ANDERSON	BID QTY	BID UNIT	BID PRICE	I BID AMOUNT
tem #	DESCRIPTION Handicap Ramps With ADA Detectable Warning	BIDQIT	BID UNIT	DIU PRIGE	DIO AMOUNT
822	Pavers (All Widths) TY2 Blended Corner (ALDOT Drawing SW-618 Index #735)	5	EA	\$1,969.00	\$9,945.00
823	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY1 Perpendicular Midblock (ALDOT Drawing SW-618 Index #735)	5	EA	\$1,863.00	\$9,315.00
824	Handicap Ramps With ADA Detectable Warning Pavers (All Widths) TY3 Combination Midblock (ALDOT Drawing SW-618 Index #736)	5	EA	\$2,500.00	\$12,500.00
825	Temporary Traffic Markings	500	SF	\$7.65	\$3,825.00
	Temporary Traffic Legends	500	SF	\$7.65	\$3,825.00
826					44 705 00
826	Specialty Traffic Control Markings ALDOT Index #70301,70302,70308,70311 (COLOR)	50	SF	\$35.70	\$1,785.00

	APPENDIX C SUPPLEMENTAL - SCHEDULE OF BID QUANTITIES (REVISED PER ADDENDUM NO. 8)				10/11/2022
	Resurfacing of Residential Streets-2023, Phase 1 Project #100-2022-55			1	
	UNIT BID SHEET			150	
	All roads that are limestone will be edgelined and tie in milled. All roads with brown mix will be completely milled. All Concrete work will be considered complete when site is restored to like conditions. All asphalt will be considered complete when site is restored to like conditions.	binder at th	ne discretion of the so be determine a	ne onsite inspecto	nd backfilled with r. Further subgrade trution by the onisit
item #	RESORPTION TO A STATE OF THE ST	EID OTK	To Result to	BID PRICE	SID ANDURT
	ALL ITEMS SHALL BE CONSIDERED IN-PLACE. PRICES SHALL INCLUDE ALL LABOR, EQUIPMENT,MATERIALS, AND REMOVALS AS REQUIRED FOR CONSTRUCTION OF THE REQUIRED WORK.		_,		
	COMPANY_SJ&L General Contractor SIGNATURE DATE Oli/22	?			

APPENDIX G BIDDER INFORMATION & ACKNOWLEDGEMENTS

1. BIDDER INFORMATION

Business Organization
Name of Proposer (exactly as it would appear on an agreement):
SJSL General Contractor, UC
Doing-Business-As Name of Proposer:
STAL General Confractor, UC (same)
State (Same)
Principal Office Address:
2317 Meridian Street # 25
Huntsville Al 3581)
Telephone Number: (931) 433-4660
Fax Number: (931) 438 - 839D
Form of Business Entity [check one ("X"] Corporation Partnership Individual Joint Venture Other (describe):
Corporation Statement
If a corporation, answer the following:
Date of incorporation: Location of incorporation: The corporation is held: Publicly Privately Pri
Names and titles of corporate officers:
Lisa Eaker - President Josh Chandler - Vice President
Jacky Eakes - Vice President
Partnership Statement
If a partnership, answer the following:

Date of organization: Location of organization: The partnership is:	MA General _Limited _ CCC
Name, address, and ownership share	of each general partner owning more than five percent (5%) of the partnership:
NIA	
_	
Joint Venture Statement	
If a Joint Venture, answer the following	ing:
Date of organization:	NA
Location of organization: JV Agreement recorded?	Yes - No
Name, address of each Joint Ventures	and percent of ownership of each:
AIN	
2. CITY OF HUNTSVILLE ASSOCIATE	EMPLOYEE, MEMBER OF HOUSEHOLD OR BUSINESS
of the household of the public official employee associates be filed with the City employee, or if a member of you	that contracts entered into with a public official, a public employee, a member or public employee, or a business with which a public official or public Alabama Ethic Commission. If you are awarded the contract, and if you are a r household is a City employee or public official, or if your business associates al, you must comply with the provisions of Code al Ala. 1975§36-25-11.
City Employee If "Yes," Department	Yes No
Member of Household City Employed If "Yes," Name (s)	Yes No
Anyone associated with your company a City Employee If "Yes," Name (s)	Yes No
3 CONTRACTOR F.VEDIE	V NOTICE

The Beason-Hammon Alabama Taxpayer and Citizen Protection Act, Act No. 2011-535, Code of Alabama (1975) § 31-13-1 through 31-13-30 (also known as and hereinafter referred to as "the Alabama Immigration Act") as amended by Act No. 2012-491 on May 16, 2012 is applicable to all competitively bid contracts with the City of Huntsville. As a condition for the award of a contract and as a term and condition of the contract with the City of Huntsville, in

accordance with § 31-13-9 (a) of the Alabama Immigration Act, as amended, any business entity or employer that employs one or more employees shall not knowingly employ, hire for employment, or continue to employ an unauthorized alien within the State of Alabama.

During the performance of the contract, such business entity or employer shall participate in the E-Verify program and shall verify every employee that is required to be verified according to the applicable federal rules and regulations. The business entity or employer shall assure that these requirements are included in each subcontract in accordance with §31-13-9(c). Failure to comply with these requirements may result in breach of contract, termination of the contract or subcontract, and possibly suspension or revocation of business licenses and permits in accordance with §31-13-9 (e) (1) & (2).

Code of Alabama (1975) § 31-13-9 (k) requires that the following clause be included in all City of Huntsville contracts that have been competitively bid and is hereby made a part of this contract:

"By signing this contract the contracting parties affirm, for the duration of the agreement, that they will not violate federal immigration law or knowingly employ, hire for employment, or continue to employ an unauthorized alien within the State of Alabama. Furthermore, a contracting party found to be in violation of this provision shall be deemed in breach of the agreement and shall be responsible for all damages resulting therefrom."

4. CONTRACTOR – PUBLIC CONTRACT WITH ENTITIES ENGAGING IN CERTAIN BOYCOTTING ACTIVITIES

Alabama Legislative Act 2016-312, as adopted on May 5, 2016, prohibits Alabama governmental bodies from entering into contracts with commercial entities that participate in boycotts against nations or business organizations that Alabama citizens can otherwise trade with (members of the World Trade Organization or other countries with which the United States has free-trade agreements).

In accordance with Alabama Act 2016-312 as adopted and approved on May 5, 2016, on behalf of

55 JU Genoral Contractor, UL I do hereby certify and represent that this (Insert Name of Business)

business is not currently engaged in, and will not engage in, the boycott of a person or an entity based in or doing business with a jurisdiction with which the state can enjoy open trade.

I, the undersigned, certify to the State of Alabama as follows:

- a. I am authorized to provide representation set out in this Certificate as the official and binding act of the Contractor and have knowledge of Alabama's Act 2016-312.
- b. In compliance with Act 2016-312, the Contractor is not currently engaged in, or will not engage in, the boycott of a person or entity based in or doing business with a jurisdiction with which the state can enjoy open trade.

5. ACKNOWLEDGEMENTS

I hereby certify that I have read and understand the City of Huntsville's General Terms and Conditions. I hereby certify that I agree to comply with all of the General Terms and Conditions of this IFB. I also understand that the General Terms & Conditions are standard and that any contradicting requirements of the IFB supercede.

I affirm that I have not been in any agreement or collusion among Proposers or prospective Proposers in restraint of freedom of competition.

Upon award of this bid, I will not substitute any item on this bid under any circumstances.

Signature of Proposer

Jacou Fabes
Print or Type Name of Proposer

10 11 22

Legal Name of Firm

2317 Mevidian Street # 25

Mailing Address

Honsville Al 35811

City State Zip Code

(931) 433-4660 (931) 438-8390

Phone Fax

iosh@ Signal.com

Email Address

Signal.com

Website Address

APPENDIX H REPORT OF OWNERSHIP FORM

A.	Ge	eneral Information. Please provide the following information	mation:
	ш	Legal name(s) (include "doing business as", if applica	able): 578L General Contractor, LLC.
		City of Huntsville current taxpayer identification numb	
В.	bel		ortions of the following chart by checking the appropriate box applicable (for an explanation of what an entity number is,
		Type of Ownership (check appropriate box)	Entity I. D. Number & Applicable State
		☐ Individual or Sole Proprietorship	Not Applicable
		☐ General Partnership	Not Applicable
		☐ Limited Partnership (LP)	Number & State:
		Limited Liability Partnership (LLP)	Number & State:
		Limited Liability Company (LLC) (Single Member)	Number & State: AL - 38374
		☐ LLC (Multi-Member)	Number & State:
		☐ Corporation	Number & State:
		☐ Other, please explain:	Number & State (if a filing entity under state law):
C.	nur Red	= =	retary of State at: www.sos.state.al.us/ , under "Government olease provide the Entity I.D. number (or other similar number
D.	cer the	rtificates of incorporation, organization, or other applicab	o entities, the entity's formation documents, including articles or ole formation documents, as recorded in the probate records of <u>ired unless</u> : (1) specifically requested by the City, or (2) an ned or provided.
Plea you	ase o	date and sign this form in the space provided below and signing on behalf of an entity please insert your title as t	l either write legibly or type your name under your signature. If well.
Sign	natur	a des	Title (if applicable): <u>Vice President</u>
Тур	e or	legibly write name: Jacky Fakes	Date: 10 / 11/22

E-Verify



Company ID Number: 514193

To be accepted as a participant in E-Verify, you should only sign the Employer's Section of the signature page. If you have any questions, contact E-Verify at 888-464-4218.

Employer SJ&L General (Contractor LLC		
Chris Goodwin			Ī
Name (Please Type or Print)		Title	
		Time	
Electronically Signed Signature		03/02/2012	Ì
Signature		Date	
Department of Homeland Sec	urity – Verificatio	on Division	7
USCIS Verification Divisio	n		1
Name (Please Type or Print)		Title	
		1130	
Electronically Signed		03/02/2012	1
orginetial 6		Date	\dashv
Info	mation Require	ed for the E-Verify Program	
nformation relating to yo		<u>-</u>	
Company Nam	e SJ&L General Co	entractor LLC	
Company Facility Addres	s:2317 Meridian St	#25	-
	Huntsville, AL 35	811	
	1		
Company Alternate Address:			
County or Bod-b	MADIOC:		-
County or Parish:	MADISON		
Employer Identification Number:	680569760		





Company ID Number: 614193

North American Industry Classification Systems Code:	237
Administrator:	
Number of Employees:	20 to 99
Number of Sites Verified for:	1
re you verifying for more ti each State:	han 1 site? If yes, please provide the number of sites verified for
ALABAMA	1 site(s)

Information relating to the Program Administrator(s) for your Company on policy questions or operational problems:

Name:

Chris N Goodwin

Telephone Number:

(931) 433 - 4660

E-mail Address:

(931) 433 - 4660 sjandl@bellsouth.net Fax Number:

(931) 438 - 8390



Alabama Secretary of State



SJ&L General Contractor, LLC			
Entity ID Number	000 - 693 - 727		
Entity Type	Domestic Limited Liability Company		
Principal Address	HUNTSVILLE, AL		
Principal Mailing Address	Not Provided		
Status	Exists		
Place of Formation	Madison County		
Formation Date	10/02/2003		
Registered Agent Name	EAKES, JACKY STEVEN		
Registered Office Street Address	2317 MERIDIAN ST #25 HUNTSVILLE, AL 35811		
Registered Office Mailing Address	Not Provided		
Nature of Business	ANY LAWFUL ACTIVITY		
	Members		
Member Name	EAKES, JACKY STEVEN		
Member Street Address	Not Provided		
Member Mailing Address	Not Provided		
Member Name	EAKES, LISA DIANNE		
Member Street Address	Not Provided		
Member Mailing Address	Not Provided		
	Scanned Documents		
Document Date / Type / Pages	10/02/2003 Certificate of Formation 2 pgs.		

Browse Results

New Search